FED VOTE

Stab

1. Which of the following issues

important

GENDER

te during that election?

EDUCATION

The
Conservativ

The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
1y

People’s

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female e Pary arty Party (NOP)  (BQ) Par Party otherparty ballot sure 5 7
A B c D E F G H ] 3 3 L M N o P Q R S| T U v w X Y z a b c d e
Base: All respondents 901 401 500 166 352 383 50 49 5 287 56 253 65 31 o1 @ @ 58 1% 50 6 165 187 79 73 31 50 71 70 06 181 713
Weighted 484 232 252 5 182 207 86" 115 172 111 8 158 2" 73 2" 7 El Ed 7 36" 58 0 102 57 £ T8 o o4 o7 Ed 59 110
169 58 111 29 71 69 26 B 60 3 25 60 8 21 8 0 T 13 33 6 23 28 a8 36 30 3 8 2 2 21 46 a
Health care 5% 25% 4% 3% 39% 3% 30% 2% 5% 3% 31% 38% 26% 20% 21% - 21% 30% 46% 18% 39% 34% 43% 37% 32% 7% 20% 27% 26% 39% 52% 0%
A T TN s s S ©
166 75 Bl Ed 51 77 7 37 61 50 6 58 6 B 7 T B g 15 15 19 % 2 36 E g 3 % 37 % 22 0
Climate Change 3% 34% 3% a0% 28% 37% 20% 32% 35% 5% 19% 37% 53% 8% 57% 25% 67% 18% 21% 53% 2% 33% 20% 37% 36% 8% 32% 31% 38% 6% 25% 37%
) 5 F FGH JoR IKQR QR IKQR oV v v q a
23 61 &2 %5 75 53 20 31 a 2 31 0 5 16 3 0 0 5y 6 0 5 8 27 %8 =3 z 5 %6 20 10 9 Ed
Taxes 25% 26% 20% 26% 25% 25% 28% 21% 26% 2% 38% 25% 16% 2% 12% 1% 13% 3% 23% 28% 25% 2% 27% 28% 25% 13% 37% 28% 21% 18% 22% 20%
RKLMNR N N 5
122 71 51 7 51 54 2 % Ed B 32 @3 3 16 3 o 0 g ) 5 ] % 28 %8 2 7 8 & e g 8 %
The economy 25% 3% 20% 18% 28% 26% 26% 23% 2% 32% 38% 27% 11% 2% 20% - 13% 20% 19% 13% 21% 28% 28% 28% 2% 2% 19% 35% 32% 17% 21% 21%
B c &l KLMINR T z
01 a1 57 7 75 34 7 30 Ed 19 18 % & 3 5 0 3 g 8 5 6 7 22 18 5 T & 21 5 1 %4 19
 Affordability and cost of lving 21% 19% 20% 24% 25% 16% 19% 26% 21% 17% 22% 18% 29% 18% 19% - 88% 20% 25% 17% 28% 28% 22% 18% 7% 4% 20% 2% 16% 26% 27% 7%
E T X X ©
o1 El 52 16 36 El 25 24 2 14 31 g 14 3 o 0 g 6 5 ) 14 2 21 7 2 3 7 5 g 18 24
Poverty and social inequality 19% 7% 21% 7% 20% 19% 33% 21% 14% 12% 20% 31% 18% 21% - - 25% 22% 13% 19% 7% 21% 21% 18% 1% 15% 18% 16% 18% 21% 22%
Gl T 7 3 3 3 3 3
£ a3 0 4 Ed 35 2 20 Ed 15 21 15 T 18 T T 0 G i) 5 9 7 7 15 7 3 & 18 7 g 6 18
Immigration 17% 19% 16% 15% 19% 7% 14% 17% 21% 14% 26% 10% 12% 2% 13% 36% - 19% 19% 14% 15% 21% 7% 15% 18% 19% 19% 19% 18% 1% 18% 16%
T KL K K
71 Ed a1 & 25 19 0 21 22 8 0 21 3 11 7 T 0 5 3 10 3 ey 8 g g 3 0 1 g 3 7 0
Education 15% 13% 16% 2% 16% % 11% 18% 13% 1% 13% 13% 2% 1% 13% 25% - 15% 19% 21% 22% 1% 18% 8% 9% 18% 23% 12% 9% 2% 20% 9%
E E WX WX W b 0 e
59 9 0 7 B a7 g 9 2 7 0 72 z 5 7 0 0 z 0 T 3 3 5 19 % 7 0 T 8 7 7 %
Seniors'issues/aging population 2% &% 16% % % 23% 11% 16% 14% 7% 12% 14% 6% 13% 14% - - 7% 14% % % % 5% 20% 27% 20% - 1% 19% 7% 8% 27%
A 5] T T SOV STV Za @
5 E 3 5 18 30 g g 20 15 5 g T ey B 0 T 2 0 0 7 5 3 13 4 3 B i 2 2 7 7
Government deficits/debt 1% 1% 5% 5% 10% 14% 9% R 12% 1% 18% 6% 3% 15% 8% 12% 21% 6% 14% 1% % 6% 3% 13% 16% 16% 6% 15% 23% 4% % 7%
B T KL KT KL S S SU Z
51 % % g 18 27 7 12 % 5 i) g 7 7 5 T 7 3 6 3 3 g 0 11 14 z z 10 5 7 B 13
Corruption and ethics in government 11% 1% 10% 6% 10% 13% 5% 1% 15% % 17% 6% 13% 10% 19% 23% 67% 8% % 8% 6% 10% 9% 1% 16% 10% % 1% 15% 8% 8% 12%
T T K K K T z
7 21 % g 21 [ 0 7 16 ey g 20 T 2 B 0 0 3 0 5 7 0 ] 7 g T 5 ey 5 7 0 7
Unemploymentjobs. 9% % 9% 10% 12% &% 11% 6% 9% 10% % 13% 2% % 6% - - % 13% 1% % 12% 12% 5% 8% 2% 12% 12% 5% 8% 12% 7%
E ™ ™ W W
40 10 30 7 2 1u 15 ] o 7 3 20 4 4 2 o 0 4 s 2 s 9 13 7 3 1 2 6 2 5 16 9
Housing (e.g., affordabiliy, availabilty)
8% 5% 12% E 12% 6% 7% R 5% 7% 3% 13% 12% 6% 5% - - 1% % 7% 8% 1% 13% 7% I 8% 5% 6% 2% 9% 18% 8%
Ly E Gl 3 3 X X e
32 21 1 7 12 13 8 6 1 ] 2 16 3 s 2 o 0 2 3 s 3 s 6 6 s 3 6 o 7 2 3 7
Infrastructure (e.g., public transit, bridges, roads)
% % 4% E 6% 6% 9% 5% 6% R 2% 10% 9% 6% % - - 7% 5% 13% 5% 7% 6% 6% 5% 7% 14% 9% 7% 3% % 6%
B 3 3
28 7 5y 7 5 9 6 T ) 7 7 ey z 5 1 0 0 z 1 T 3 T 7 7 G g z 3 2 z z 7
Energy, including pipelines, gas prices 6% 7% % % % % 7% % 6% 6% 5% 7% 7% 8% % 1% 12% 5% 2% 1% 5% 1% % 7% 6% 35% 5% 3% 12% 3% 2% 7%
D U 0 a
%8 7 11 5 7 16 T 3 ) g 7 g B g T 0 0 0 3 2 3 3 7 5 0 T 7 7 g T 3 5
Relations with other countriesfrade 6% 7% 4% 5% 4% E 2% % 8% 8% 9% 6% 6% R 3% - - 1% % 6% 5% % 4% 5% 11% 4% 9% 4% 10% 2% 2% 6%
G G W
2 15 B 7 5 15 6 T 7 G 6 7 0 5 1 0 0 z 1 0 7 z 3 7 & 3 1 7 9 ) 1 8
Relations across provinces 5% 6% % 2% % 7% 7% 2% % 5% 7% 2% - 8% 5% - - 6% 2% - % 3% 3% 4% 9% 7% 3% 4% 9% 1% 2% 6%
) R 0
% 3 g 5 g g g 7 g 7 3 7 T 3 0 2 0 3 g T 5 5 3 5 2 T 7 5 7 T 7 7
Crime and violence 5% 6% 4% 6% 5% % % 6% 3% % % 2% % % - 52% - 8% 9% 2% 8% 8% 3% 5% 2% 4% 11% 6% 2% 2% 2% 4%
KN KN X X
Indigenous issues involving First Nations and Native 19 10 ] (] 6 7 6 2 6 6 1 12 2 o 2 o 0 1 2 4 2 2 4 4 3 0 4 5 1 2 1 6
peoples 4% % 4% 7% % % % 2% % 5% % 7% 6% - % - - % 2% 10% % 2% 2% 2% 3% 1% 11% 5% 1% 2% 1% 5%
™ m R U b
19 g 10 g 5 5 0 g 5 5 0 g 2 T 3 0 0 T 7 5 3 2 3 3 7 T 3 7 7 g 1 3
Racism/discrimination % % % 9% 3% 2% - 5% 3% 7% 1% 6% 6% 2% 13% - 3% 2% 13% 7% 3% 3% 3% 2% 2% 6% % 2% 1% 1% 3%
DE FH 7 3 JKMR VWX Ge
8 g 1 7 8 3 7 5 5 5 T 5 3 T 2 2 0 T 3 T G 5 z 2 T T T T T 5 7 T
Women's issues 4% % 5% 7% 4% % 2% % % 5% % % 9% 1% 6% 52% - 2% 5% % 10% 7% 2% 2% 1% - 2% 2% 1% 1% 5% 1%
E E R X WX g
17 7 10 5 g 7 0 T 0 T 7 5 1 T 1 0 0 2 3 T 3 3 3 2 7 T 1 3 3 7 3 7
Interest rates/inflation % 3% % 5% 3% 3% - 3% 6% % 5% % 5% 1% 3% - 5% a% % 5% 3% 3% 2% % 6% 2% 3% 3% 7% 3% 3%
6 g 0 5 7 3 5 3 Qg 2 T 7 7 3 3 g 0 2 z 5 z 3 T T T T 3 2 T 5 3 z
Abortion % % 4% % 2% % 6% 2% % 2% % 2% 5% % 9% - - 7% % 7% % 2% 1% 1% 1% 2% 8% 2% 1% 10% 3% 2%
DE K TOVWX 5 e
1 g 5 1 B 5 3 o g 2 3 3 0 3 0 0 0 T 3 0 1 T 3 7 1 T 0 7 5 0 7 1
Extremismiterrorism % % 2% 1% % 3% a% - 5% 2% a% 2% - % 2% - 3% 5% - 1% 5% a% % 1% 2% 1% % 5% 1% 5% 1%
of G e
i) 5 3 3 5 2 5 7 3 2 3 3 T 3 T g 0 3 T 2 T 3 G T T T T 7 T 2 3 T
New technology % % 2% % 5% % 6% % 2% 2% % 2% 2% % 5% - - 7% 2% 5% 2% 2% 6% 1% 1% - % 7% 1% 2% 3% 1%
E E K WX 5
13 g 7 2 B 3 5 3 3 2 7 T 0 3 0 2 0 0 7 T 1 5 3 3 0 T 7 7 1 T 7 B
Drug abuse 3% 3% 3% 2% 5% 1% 6% 3% 2% 2% 3% 2% - % 52% 1% 2% 3% 1% 6% a% 3% 1% - 5% % 1% - 5% 2%
E X T
1 g 3 7 3 5 7 3 7 7 7 5 0 2 T g 0 g T 2 z 2 T T T T T 2 3 3 T z
Gun control 2% % 2% % 2% % 2% 2% 2% % 2% % % % % - - 1% 2% 5% 3% 3% 1% 2% 1% - 2% 2% 3% 5% 1% 2%
5 7 B 7 B 1 0 T 3 T T T T o 0 0 0 T 1 T 0 0 7 T 0 T 7 T 0 T 7 1
Defence, the Armed Forces. 1% 1% 1% 2% 1% 0 - 1% 2% 1% 1% 1% 3% 1% - 3% 1% 3% 1% o 2% ) 0 2% % 1% 0 - 2% 1%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDJE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - cldle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Unemploymentfjobs) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party
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Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

PostSec  UnivGrad e Party arty Party (NDP)  (8Q) a ar other party _ballot ure 5 1
A B c ) E 3 G H ] J K L ] N o P Q R s T Y v W X Y z a b < d e
Base: Allanswering Ed 38 a2 16 a2 22 Q 9 37 28 17 EQ 2 a 3 0 0 7 14 6 0 20 2 10 EE T 9 20 9 7 22 13
Weighted rea 7 o o i T o 7 o i & 2o T P 7 7 o = o o7 T e & e & e & e o 7
[ 10 7 7 7 © 3 2 7 © 0 1 0 0 0 [ 0 T T T 3 3 7 T 5 o 2 T 7 Z 3 Z
The Liberals 0% 5% 3% 2% 3% 50% 30% 2% 5% 52% 5% 2% 56% - 21% - - 36% 6% 18% 0% 35% 30% 24% 62% 100% 3% 35% 8% 2% 30% 25%
g 5 5 1 3 7 0 7 3 7 3 0 0 7 0 0 0 T 1 0 1 7 B 7 0 T 1 3 0 T 7 7
The Consenatives 2% 2% 2% 4% 7% 8% - 2% 2% 1% 95% - - 8% - - 27% 12% - 30% 21% 3% 5% % - 19% 29% 8% 8% 2% 26%
3 T Z 3 T 0 z T 0 [ 0 z 0 [ 1 [ 0 [ 0 3 0 [ 0 T 0 T 1 T 0 z 0 T
The Green Party % % 9% 31% - - 21% 12% - - - 10% - - 9% - - - - 58% - - - - - - 16% - - 50% - -
T 1 0 1 0 0 0 0 T 0 0 T 0 0 0 0 0 0 0 T 0 0 0 T 0 T 1 T 0 T 0 T
The People’s Party of Canada 2% 3% 2% &% 2% - - - % - - 5% - - - - - - 1% - % - - - - 1% - - - % -
T 0 T 0 T T 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The NOP 2% % 1% - - &% - - 2% % - 2% 4% - - - - - - - - - 6% 6% - - - 8% - - %
T 0 T 0 T 0 0 T 0 0 0 0 0 T 0 0 0 0 0 0 0 0 1 T 0 T 0 T 0 T 1 T
The Bloc Québécois (BQ) 2% - 3% - 3% - - 1% - - - - - 32% - - - - - - - % - - - - - - - % -
T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
Some other Party 1% 2% - - 2% - - - 3% - - - - - 30% - - - - - - 5% - - - - - % - - - -
EE) 7 7 1 7 3 5 7 7 0 0 7 0 0 0 0 0 T g T 0 3 B T 7 T 1 3 0 T 7 3
None of them -they're all the same 25% 9% 2% &% 3% 26% 9% 3% 20% 3% - 10% - - - - 37% 81% 12% - 34% 32% 25% 28% - 12% 31% - - 36% 5%
S a3 21 2 9 21 2 10 7 16 ey 6 20 T 2 2 [ 0 3 10 5 2 10 ) @ s ] 5 i 5 @ 10 7
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% isk level) - A/B - CIDJE - FIG/H - JIK/LIMINIOIPIQIR - SITIUVIWIX/Y - Ziafb - cidle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Education) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal
Univ Grad
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Democratic

DECIDED-VOTERS LEANERS

The Bloc
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Party
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[

Know/Not

FEMALE

Detailed Tables

s Party  Party(NDP)  (BQ) a Party other party _ballot ure 5
A B c ) E 3 G H I J K L ] N o P Q R S T U v W X Y z a b < d e
Base: Allanswering 31 L 83 38 54 39 Q 20 54 a7 13 2 13 18 7 T 0 8 27 16 2 27 27 7 19 3 12 19 7 % 35 2
Weighted 71 307 g 73 297 o 07 71 72 16 07 By & T i ™ 5 3+ 10+ T3+ T 15+ 5 E Edl 0 1 E 3 7 10+
% 12 ) s 10 7 3 © 8 s 3 18 0 T T [ 0 T T 3 5 7 6 3 7 o 7 T 7 T 6 3
The Liberals 5% 0% 3% 4% 3% 38% 30% 29% 36% 3% 27% 7% 6% 13% 15% - - 7% 5% 32% 36% 32% 35% 0% 50% 39% 36% 7% 31% 32% 29%
B 7 7 5 7 1 0 3 3 T T 7 T 0 0 0 0 1 7 3 T 1 T 0 T 3 T 0 7 1 T
The NDP. 1% 13% 10% 2% % % - 16% 15% 13% % 63% %% - - - - 7% 21% 21% 8% 5% 5% % - 32% 7% - 19% % 7%
)
G T T 0 3 3 z z [ 5 [ 0 T 0 [ 0 [ 0 [ 0 z 1 T 1 z 0 T 0 T 1 3
The Consenatives % % 1% - %% 5% 20% % 2% 4% - % 7% - - - - - - - 1% % % 9% 61% - 12% - - 8% 29%
7 7 7 1 7 1 0 T 7 T T 0 0 7 0 0 0 0 0 0 1 0 7 T 0 T 0 7 0 T 0 T
The Bloc Québécois (BQ) 5% 7% 5% % % % - % 9% 5% 13% 2% - 16% - - - - 3% - 7% % 9% 6% % - - 15% 5% 7% 2% 3%
3 T Z 3 T 0 0 z 0 [ 0 [ 0 [ 0 T 0 T 0 T z [ 0 T 0 T 1 T 0 z 0 T
The People's Party of Canada % % 5% 1% 1% - - 0% 2% 2% - - % - - 100% - 2% 3% 10% 2% - 2% - - - 1% - - 12% 2% -
7 1 T 1 T 0 0 7 0 0 0 0 0 0 1 0 0 0 1 T 0 0 1 T 0 T 1 T 0 T 1 T
The Green Party 3% % 2% % 5% - - 7% 2% - - - - - 3% - - - 5% 8% - - % - - - 9% % - - % -
0 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
Some other Party 0 - 1% - - 1% - - - 1% - - - - - - - - 2% - - - - - 3% - - - - - - %
% g 5 5 EE) 7 5 5 8 5 0 7 T 5 7 0 0 3 0 3 7 5 7 7 3 T 1 3 7 7 g 3
None of them -they're all the same 3% 28% 3% 2% 3% 38% 50% 26% 35% 31% 3% 8% 18% 5% 53% - - 1% 75% 29% 19% 2% 36% 6% 30% 39% 1% 26% 8% 32% 6% 29%
S T 30 a1 23 29 19 10 21 2 8 10 21 6 ey 2 T 0 5 3 10 3 ey 18 s 9 3 10 12 9 3 [ 10
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% isk level) - A/B - CIDJE - FIG/H - JIK/LIMINIOIPIQIR - SITIUVIWIX/Y - Ziafb - cidle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Taxes) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

Detailed Tables

EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvativ Theliberal Democratic ~Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowlNot
TOTAL Female Univ Grad e Party Party (NDP) Party P other party ballot
A B E ) P Q Y

Base: Allanswering 221 02 19 39 % 87 2] 39 104 54 Ed 73 9 27 5 T T 8 32 2 27 3 50 75 37 5 20 9 33 19 6 50
Weighted 123 61 52" 25+ a5 53" 20 3 4 24" 3 70" 5 16+ Eil o o 1 6+ 107 5+ 18 27" 28" 25 2 5+ 26" 20 10+ 15 32

37 25 2 6 ) 7 7 8 ) 1 26 T 0 3 T 0 0 3 2 0 6 5 9 g 10 T 5 11 9 T 3 B
The Consenvatives 30% 40% 20% 23% 3% 2% 29% 25% 26% aa% 84% 2% 7% 21% 40% - - 24% 14% - 38% 28% 33% 23% 2% 9% 32% 2% 43% 8% 16% 25%

B il K

E 16 15 g 7 15 5 g 6 g 0 31 T T 0 o 0 o T 3 B 7 7 g 7 1 3 10 7 3 7 1

The Liberals 28% 27% 30% 23% 31% 20% 2% 27% 36% 23% % TT% 30% 7% - - - % 6% 33% 15% 38% 26% 27% 29% 51% 18% 39% 18% 29% 20% 36%
7

T B 7 7 B 5 z T 5 0 T 0 0 0 0 0 0 0 0 3 z T T 7 T ) 7 ) 3 ) z z

The Bloc Québécois (BQ) 9% 13% 6% 18% 4% 10% 9% 14% 10% 1% 5% - - 62% - - - - - 28% 11% 6% % 4% 5% - 29% - 7% - 10% 5%
T T

5 B 3 T 7 B 0 3 T T T T 3 o 0 o 0 o T T 0 T T 1 T 0 T 1 0 0 T 1
The NDP % % 5% % 5% % - 1% £ % 2% 2% 63% - - - - - % 1% - 6% 4% 3% 5% - 7% 3% 2% - 8% 4%

7 o 3 z T z 3 0 0 0 0 2z 0 0 z 0 0 0 0 z 0 0 0 ) z ) 0 ) 0 z 0 T
The Green Party % % 5% 8% - % 13% - 1% - - 5% - - 1% - - - - 20% - - - - 7% - - - 2% 21% - 4%

T T 0 0 0 0 0 o 0 o 0 o 0 o 0 o 0 o 0 0 0 o 0 0 0 0 0 0 0 0 0 0
The People’s Party of Canada, % % - - % % - - % 2% - - - - - 100% 100% - - - - - 1% - 2% - - 1% 2% - - -

30 5 21 5 3 5y 6 7 0 5 z 5 0 2z 0 0 0 g 2 T 5 T 9 g z ) z 7 3 7 5 B
None of them hey'e all the same 25% 14% 34% 24% 28% 21% 26% 2% 25% 21% % 14% - 10% 12% - - 73% 75% 8% 36% 21% 33% 3% 9% - 12% 15% 15% 2% 46% 25%

A
J— 123 6L 62 %5 75 5 24 31 a 24 £ 20 g 6 3 o 0 11 6 10 5 18 27 28 2 2 15 %6 20 10 5 52
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/I - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Zlab - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Crime and violence) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

Post Sec

The

rvativ  The Liberal

The New

Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

Univ Grad e Party Party  Party(NDP)  (BQ) a Party other party _ballot ure 1
A 5 c 0] E 3 G H ] 3 K L 0] N o P Q R S T U v w X Y z a b < d e
Base: Allanswering 34 18 16 8 17 12 3 8 13 10 7 5 3 a 0 T 0 5 8 T 7 8 B 8 3 T B 7 5 z 7 7
Weighted 7 T3 5 & 5 & & 7 & e 7 e T 7 P 7 & T 5o & 7 = 7 T 7 =0 e e e o
5 7 2 T T 7 2 T 2 0 2 T 0 0 0 [ 0 [ 2 [ T [ 0 3 0 o 1 ) 2 o 1 T
The Consenatives 20% 2% 2% 2% % 7% 5% 6% 1% % 73% 32% - - - - - - 32% - 24% % 13% 62% 20% 25% - 68% - % 29%
3 3 0 1 7 0 7 0 0 T 0 0 0 0 0 7 0 0 1 T 0 7 0 T 0 T 1 7 0 T 0 T
The Peaple’s Party of Canada 2% 2% - 1% 2% - 3% - - 6% - - - - - 100% - - 1% 100% - 34% - - - - 15% 0% - - - -
Z 0 Z 0 Z T z T 0 [ 0 [ 0 z 0 [ 0 [ 1 [ 0 z 0 T 0 T 0 T 0 T z T
The Bloc Québécois (BQ) 1% - 2% - % 1% 28% 1% - - - - - 5% - - - - 1% - - 26% - 7% - - - - - - % 21%
7 0 1 T 0 0 T T 0 T 0 T 0 0 0 0 0 0 0 1 0 1 T 0 T 0 T 0 T 0 T
The NOP 2% 5% 6% 3% - - 2% 5% 0% 27% - 100% - - - - - - - 19% 6% 25% - - - 9% 23% - 51% - -
Z z T T T 0 0 T 0 T 0 z 0 [ 0 [ 0 [ 0 [ 1 [ 1 T 0 T 1 T 0 T 0 T
The Liberals %% 2% % 6% %% % - 1% 7% 8% - 2% - - - - - 6% - - 18% - 28% 6% - - 19% &% 9% - 10% -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The Green Party 2% - 5% % - - - - % - - 1% - - - - - - - - 10% - - - - - - - - 9% - -
7 7 3 T 3 3 0 3 z z 0 [ 0 z 0 [ 0 z 3 [ 1 z 1 T 1 T 1 z 1 T 1 Z
None of them -they'e all the same 2% 26% 3% 26% 30% 7% - 5% 3% 50% - 1% - 1% - - - 84% 3% - 30% 30% 30% 16% 80% 100% 31% 29% 23% - 32% 9%
- 2 s g 5 g s G 7 G 7 3 7 T 3 0 7 0 3 G T 5 5 3 5 2 T 7 5 7 T 7 @
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2 Now, on

most important to you,

TOTAL

[ you think is the best to deal with them?

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

Univ Grad e Party Party  Party (NDP) (BQ) a ar other party _ ballot ure 5
A O c D E 3 G H | 3 K L 0] N ) P Q R s T [ v w X 02 z a b < d e
Base: Al answerng 335 3 192 63 15 157 9 % a8 29 30 T21 £l 63 3 T 2 i) 31 2 39 & 55 7 70 ) 15 55 70 S £ &7
Weighied 166 75 57 Ed 5T 77 7 B o1 50 o 55 o £ i T 7 & 5 o o7 267 2 £ £ o 3 257 37 75 2 o7
75 £ z 2T = 2 7 T 27 % 0 £ 9 T g o 0 o 3 T o 5 5] T 1A 3 5 T g T ) [
The Green Party. 6% 3% 8% 55% 5% 2% 2% 39% 5% 52% 8% 3% 8% 26% 51% - 9% % 9% 6% 5% 36% 54% 3% 2% 3% % 3% 3% 2% 46% 0%
© R e
[ ) 7 3 ) ) 7 3 5 7 o £ T B o T o B 7 T 7 7 g 3 ) 7 T 3 5 B 5 0
The Liberals 2% 29% 9% % 2% 29% 2% 25% 20% 25% - 56% % T - - - 3% 2% % %% 2% 3% 26% 29% 2% 9% 3% 5% 7% 5% 20%
T C VN T T < <
T 7 7 7 T 7 z 3 7 z o G o T o G o G o z T G o T 3 T z T z T 1 5
The Bloc Québécois (BQ) % 5% % 5% 2% 5% 3% % &% % - - - 31% - - - - - 2% 7% 1% % 0% % % 7% - % 5% % 1%
° © KLV
0 5 5 7 7 3 7 B 7 B o T 5 T o T 7 T T 3 T 3 o B T T 7 B T B T B
The NOP % &% % % % % %% T ™% % - 2% 3% % - - 1% - ™% 1% ™% 2% 2% 5% 3% - 1% 7% % 0% &% %
KMV
5 3 z T z 3 o z z z 7 G 0 T o G o G o G T z o T T T T T z T T T
The Consenatives 3% % 2% 2% W% % - % 3% % 2% - % % - - - - - - % % 2% % D % 5% % 5% - &% %
z 7 T 7 T G o T T G o T o G o T o T o T T G o T G T 7 T G T G T
The People's Party of Canada % % - % - - - % % - - % - - - 00% - - - 5% 3% - - - - - 2% - - - - -
3
7 5 7 7 7 T z 5 5 7 T 7 T 3 o G o 3 5 T 3 5 z T 5 T o T 7 T 3 7
None of them -theyre allthe same 1% 1% 6% 2% 5% 4% 2% % 4% 3% % 7% 3% % % - - 56% 1% % 6% 1% 0% 2% 5% 1% D 6% 10% 6% 4% 8%
I T66 7 5 3l 5T 77 g £ o El 5 E 5 = g T B S 5 ™ 19 % Bl E3 = g 5 ) 6 3 = [
o 100% 100% 100% 100% 100% 100% T00% 0% T00% 0% 100% 0% T00% 100% T00% 0% T00% 0% T00% 00% T00% 00% T00% 00% T00% 0% T00% 00% T00% 00% T00% 00%
Proporions/Means: Columns Tested (5% risk level) - AB - C/DIE - FIGIHI - JKILIMINIOIPIQIR - STTIUVAIXIY - Zialb - cidie Overlap formulag used. * small base; * very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Detailed Tables
Stab

2. (Extremism/terrorism) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE

Would not
The TheNew  TheBloc vote/NoneW  Don't
rvativ TheLiberal Democratic ~Québécois TheGreen  Peoples  Orsome  ouldspoil  Know/Not

TOTAL Female < s Univ Grad e Party Party  Party(NDP)  (BQ) Party Party other party _ballot
A 3 c ) E 3 G H I J K L 0] N ) R s T [ v w X 02 z a b < d e
Base: All answering 29 18 ) 2 17 10 2 0 21 5 7 £ 0 5 1 0 0 2 5 0 2 9 8 7 2 T 1 £l 8 T 8 2
Weighied v ol G = & G 7 o > 7 el el o o 7 T r e ro Fe o o e = o r o
7 5 B 0 3 3 2 [ 5 [ 3 T 0 [ 0 [ 0 [ 2 [ 0 T 2 3 0 T 0 2 3 T 2 o
The Consenatives 8% 54% % 52% % 56% 53% - 5% 6% 100% 36% - 1% - - - - 6% - 52% 25% 55% 61% 55% - - 6% 65% 100% 3% -
3 2 T 0 T T 0 0 2 T 0 2 0 T 0 0 0 0 0 0 0 T 0 T 0 0 0 T T 0 T 0
The Liberals 7% 2% 20% 8% 18% 21% - - 18% 66% - 52% - 38% - - - - - - % 0% - 18% 5% - 100% 20% 1% - 1% 52%
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
The Green Party 3% 5% - - 6% - - - 5% - - - - - 100% - - - - - - - 0% - - - - 1% - - - -
Z 2 z 0 3 T 2 0 2 0 0 0 0 2 0 0 0 T T 0 0 T 2 T 0 0 0 T T 0 2 0
None of them -they're all the same 2% 20% 2% - 3% 2% % - 20% 8% - 2% - 8% - - - 100% 34% - - 35% 35% 20% - 100% - 23% 18% - 6% 8%
S 14 9 5 T 5 5 3 [ 9 2 3 3 0 3 0 [ 0 T 3 [ T 7 7 T 1 T 0 T 5 T 7 T
oma 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% - 100% 100% - - 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (immigration) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNoneW  Don't
rvativ Theliberal Democratic ~Québécois ~TheGreen  People's  Orsome  ouldspoil  Know/Not
TOTAL Female PostSec  UnivGrad e Party Party (NDP) Party Party other party _ballot
A B E I P Q Y

Base: Allanswering 159 72 87 % 63 70 7 24 57 3y a1 31 8 32 8 2 0 13 24 7 19 S 30 % Eid 5 T 2 £ 5 34 38
Weighied = 7 70 i 3 S v 207 36 15 21 5 Ll o L T i Gl T Ead i T 7 5 i Ead Gl T i Gl o~ T

24 5 9 7 T 5 3 7 5 7 5 Z 0 3 T 0 0 0 7 Z Z 7 7 5 5 T 3 5 7 T G Z
The Consenatives 20% 34% 23% 21% 31% 21% 25% 21% 3% 26% 62% 13% 14% 18% 25% - - 6% 21% 38% 21% 24% 38% 31% 28% 5% 26% 2% 7% 36% 12%

o] T 7 3 5 7 % 3 5 5 2 © o 3 T o o 2 T T 2 5 5 2 7 T T 7 3 2 B 3
The Liberals 2% 26% 8% 20% 26% 19% 7% 13% 15% 32% 10% 67% - 1% 2% - - 26% % 2% 1% 26% 26% 16% 23% 12% 1% 38% 20% 27% 1% 19%

Gl

2 5 5 T 3 g 0 7 Q 2 0 T 0 0 0 [ 0 [ 0 [ T 2 T 7 7 ) 0 z 7 ) T 7

The Bloc Québécois (BQ) 1% 1% 13% 5% &% 23% - 20% 16% 12% 2% 6% 2% 54% - - - - 3% - 9% 12% % 21% 2% 1% 5% 10% 2% % % 24%
©

7 H z H z 0 o T 3 T o o 2 T o o o o T T T T o T O T T T O T T T
The NDP. 5% 5% 5% 5% 5% 1% - % ™% &% - % 52% % % - - - 8% 20% 1% % 2% - - 8% 1% 7% - 15% % 2%

7 3 T 2 T T 0 2 z 0 z 0 0 0 0 T 0 [ 0 T T [ T ) 0 ) 7 T T ) T T
The People's Party of Canada 5% 8% 2% 15% % % - 10% % - 9% 2% - - - 100% - - % 20% 2% 2% 5% 3% 3% - 2% 3% 5% - % -

z H T T T . o T T o T T o o o o o o o o T o T T O T 0 T O T O T
Some other Party % % % &% % 1% - % % - % ™% - - 9% - - - - - 9% - 7% 2% - - 5% 6% - 5% - 2%

T T T 0 T T 0 0 0 T 0 0 0 0 T [ 0 [ 0 [ 0 [ 0 ) T ) 0 ) T ) 0 T
The Green Party 2% 2% % % - % - - 1% 6% - % - - 2% - - - - - 5% - - - 5% - - - 5% % - -

fo] 3 5 T 5 s 3 5 % 3 3 o T 2 o o o 7 7 o T 5 3 3 3 2 0 2 T T % 7
None of them -they'e al the same 21% &% 3% 10% 2% 2% 28% 27% % 8% 13% - 2% 1% 13% - - 66% 53% - 16% 27% 20% 21% 18% 7% - 10% 5% 23% 3% 2%

A
S (& = %0 2 34 5 2 20 36 i3 21 i3 2 6 2 T 0 5 1 5 5 7 7 5 7 3 O i 7 5 6 i
oma 100% 100% 100% 100% 100% 100% 100% 100% T00% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2 tion and ethics,

Now, on

that are

GENDER

you, which party do you think is the best to deal with them?

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democralic ~Québécois  TheGreen  People’s  Orsome  ouldspoil  Know/Not
TOTAL Female s Univ Grad arty  Party(NDP) (BQ) party Par other party _ ballot sure 1
A O c D E F G H i ) K L ] N ) 3 Q R s T [ v w X 02 z a b c ] e
Base Al answering 08 55 9 5 37 56 3 16 50 % 2 18 9 i) 1 2 2 5 13 4 7 i 2T 22 2 5 3 22 %0 5 5] %
Weighted o 2 5 & g > e o 5 - o - e - = T > e & - e e 1o 15 e > > o 15 r o e
) 5 3 T 5 0 0 3 5 z 0 o 0 o 0 0 0 T 0 T 0 T 0 2 3 0 0 5 3 T 0 T
The Consenatives 21% 20% 1% 6% 2% 6% - 2% 2% 2% Ga% - - &% - - - 0% - 26% 1% 1% 2% 5% 9% - % 20% 2% % 1%
B
5 5 7 o T 7 o 7 3 z z T o 5 o 0 o 0 o 0 o T T 7 z 0 o T 3 0 o 7
The Bloc Québécois (BQ) 7% 8% 16% - % 27% - 30% 1% 8% 1% 1% - 9% - - - 5% 8% - - 1% % 0% 7% 2% - Ta% 5% - - 1%
5 T 5 z 2 z z T z T 0 7 0 0 0 0 z 0 0 z T T 0 T T 0 T 0 0 z z T
The Liberals 1% % To% 36% 0% % 6% 1% % &% - 9% - - - - 1% 2% A S6t% T6% % % 1% % - 1% - 2% 35% 24% 1%
L)
5 5 T T T 3 o 0 3 z o T 3 0 T 0 o 0 o 0 T 0 T T z 0 o T 3 0 o 0
The NDP 0% 7% % 5% % 2% - - 5% 21% 2% &% 7% - 5% - - - % - 24% 5% 9% 2% 1% 8% 26% % 2% % 5% -
&
7 z 3 0 T 3 T T T z 0 0 0 0 3 0 0 0 0 0 0 0 T 0 3 0 0 T T 0 0 z
The Green Party % i 0% - % 1% 26% 5% 3% % - - 1% - 63% - - 6% - - - 5% % - T8% 2% - % % - % %
7 z z o z z z T T 0 o z o T o T o 0 o 0 o z o 0 T 0 o 0 z 0 z 0
The People's Party of Canada % 7% 9% % 9% 7% 6% % % - - 2a% - Ta5% - 100% - - - - % 2% - % 0% - - - 2% 0% 2% -
b 5 [ z 5 5 0 3 5 z 3 T 0 T T 0 0 T 5 T T z 3 z 3 T T z z T 3 7
None of them -theyre allthe same 2% 6% 2% 26% 0% 215% - 2a% 2% 6% To% 6% 2% 1% 2% - To% 2% 0% 6% 3% 30% 20% 8% 21% 39% 1% 2% 3% 2% 0% 30%
I B % = S [ 77 7 = = 5 (0 5 7 7 S T z 3 G 3 3 O S EE ™ B Z ™ T 7 O T
o 00% 0% 00% 100% 00% 00% 00% T00% 00% 100% 00% 100% 00% 100% 00% T00% 00% 00% 00% T00% 00% T00% 00% 00% 00% 00% 0% 00% 00% 00% 0% 00%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Poverty and social inequality) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female PostSec Univ Grad art Party (NDP)  (8Q) a ar other party _ballot sure 5 1
A B c ) E 3 G H ] J K L ] N o P Q R s T U v w X Y z a b © d e
Base: Allanswering a1 59 82 25 5 62 7 31 58 35 17 3y 20 16 13 0 0 12 % 5 20 % 28 31 27 @ 7 % 26 18 28 36
Weighted 91 £ 57 T 36 £ 25+ 2 24 2 T 3T E o & 5 6+ 5 11 1o 2 71 7 il 6 7 5+ i 5+ 20
% s [ 2 1T T 13 7 @ 3 0 21 T T 0 [ 0 [ T [ 2 2 9 7 7 T 1 3 7 T s 7
The Liberals 2% 9% 3% 4% 3% 29% 2% 19% 18% 21% - 8% 6% 6% 6% - - % 8% % % 7% 0% 35% 22% 34% 13% 15% 27% 15% 5% 31%
5 0 3 7 3 7 0 7 3 5 T 7 7 7 7 0 0 0 7 0 7 7 5 3 3 T 1 5 7 T 7 3
The NDP 7% 25% 1% 1% 18% 1% - 18% 2% 38% 10% 6% 75% 16% 34% - - % 10% - 20% 13% 21% 15% 1% 2% 18% 27% 26% 1% 9% 12%
B 3 5 z Z 7 0 T 5 T 5 T 0 [ 0 [ 0 T 1 [ z z 1 z z T 0 T 1 T 1 3
The Consenvatives %% i 0% 1% &% 10% - % 2% 8% 79% 3% - - - - - 13% 5% - 15% 1% 3% % 9% 24% % 8% 6% 1% 5% 12%
G
B 5 3 3 7 7 7 3 1 0 0 0 0 7 0 0 0 0 0 7 1 7 0 T 1 T 3 T 1 T 7 T
The Bloc Québécois (BQ) 5% 12% % 21% % 6% 13% 1% 5% - - - - 54% % - - - - 8% 10% 1% 2% 6% % - 53% - 8% - 11% %
5 T T z 3 0 z z T T 0 z 0 [ z [ 0 T 0 [ z z 1 T 0 T 0 T 0 z z T
The Green Party % 3% &% 12% 9% 1% 6% 7% 5% 6% - 5% - - 34% - - 13% 3% % 1% 15% % 2% - - - 5% 2% 20% 2% -
3 1 7 1 0 1 0 T T T T T 0 0 0 0 0 0 0 0 1 0 0 T 1 T 1 T 0 T 0 T
The People’s Party of Canada % % 5% % 1% 3% - 3% % 6% 11% 3% 5% 3% - - - - 3% - 13% - 2% - 7% - 9% - - 9% 2% 5%
0 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
Some other Party 0 1% - - 1% - - - - 3% - 1% - - - - - - - - - 2% - - - - - 2% - - - -
% Z ) 3 1 3 0 9 5 7 0 7 T 3 1 0 0 5 T 7 1 7 3 7 G T 0 7 5 3 3 B
None of them -they're all the same 29% 31% 2% 9% 29% 3a% 36% 36% 21% 7% - 1% 1% 21% 19% - - 6% 72% 37% 1% 30% 28% 34% 38% - - 3% 3% 31% 15% 36%
S o1 39 52 6 36 39 2 2 24 1 7 £ 9 1 6 [ 0 s 16 5 T 1 2 21 [ 2 © 7 15 9 18 24
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% isk level) - A/B - CIDJE - FIG/H - JIK/LIMINIOIPIQIR - SITIUVIWIX/Y - Ziafb - cidle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Health care) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female Univ Grad e Party party  Party(NOP) __(8Q) Party other party __ballot ure 5 1
A 3 c D E 3 G H I J K L 0] N o P Q R S i U v w X 2 z a b c d e
Base: All answering 318 103 215 57 1 130 15 o Ta7 o 50 17 15 a7 15 0 T 20 50 3 ) 59 72 56 56 5 17 5 ) a3 6 86
Weighted 169 55 iy 25 7T S 26+ 5 5 35 25 50 & 21 & T T3 £ & 25 2 @ e 307 el & %5 25+ 2 a6 2
5 2T 37 9 % % [ ) 2 [ T 50 T 2 2 [ 0 T 2 3 6 7 8 0 0 T 2 T s 5 0 [
The Liberals 3% 36% 3% 29% 5% 36% % 25% 6% 0% 3% 83% 7% % 21% - - 0% 7% 2% 26% 26% a% 7% 7% 21% 2% 2% 2% 30% 1% 38%
TR oW
B ) 7 5 ) 5 5 s 5 % E 0 0 7 0 0 0 2 T 0 5 7 7 5 4 0 2 z 7 3 ) 5
The Consenatives 6% 8% 16% 7% 9% 3% 9% 8% 1% 6% 0% 0 % 7% 5% - - 2% 2% &% 20% 26% 5% 1% 2% 1% %% 6% 7% 3% 21% 1%
MR KR
i) 5 5 T z 3 0 5 z 2 0 T 0 5 0 0 0 0 T 0 T 2 2 5 2 . 0 T 7 T 3 T
The Bloc Québécois (BQ) 8% % % % % 1% - 5% % 7% - % - 543 - - - - 2% - 5% % % 1% % 3% - % 4% % &% 0%
IR
e 5 7 7 5 7 0 7 5 3 2 3 Z 0 T 0 0 T 2 0 3 2 3 2 T T T 2 2 3 3 2
The NOP 7% % % 2% 7% 5% - % 9% % 7% 5% 56% - 0% - - % 5% 7% 1% % % &% 3% 9% 2% 0% % 2% % %
3 2 T T T 0 0 T 0 2 0 0 0 0 2 0 0 0 0 0 T 0 T . 0 . 0 T 0 T 0 0
The Green Party 2% % 1% % 2% 0 - 2% % % - 1% - - 24% - - - % 5% % - 3% - % - 5% 5% % % - -
Gl
z T T T T 0 0 0 T 0 0 T 0 0 0 0 0 0 0 T 0 0 T 0 0 0 T 0 0 0 0 0
The People's Party of Canada % 2% % 3% % - - - 2% % 2% % - - - - - % % % 2% - 2% - - - % 2% - 2% % -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
Some other Party 0 - 0 - % - - - % - - - - - - - - - % - - 1% - - - - - - - - 1% -
E 14 E 7 B 0 7 1 s 2 5 2 7 3 0 T 3 % 2 7 3 5 i) g T 2 5 7 7 16 ©
None of them -they're allthe same 3% 2% 3% 29% 3a% 0% 3% 30% 2% &% % 3% 2% % - 100% 7% 80% 2% 30% 3% 28% 39% 2% 36% 24% 20% 28% 3% 3% 37%
JKW
S 69 56 L 2 i £ % s 50 3 S 0 5 2 5 [ T [ £ 5 ] % ) 3 £ 3 s % % 7 % )
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (The economy) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

5 Univ Grad e Party arty Party (NOP)  (BQ) Party otherparty ballot ure. 5 1
A B c D E F G H ] 3 K L M N o P Q R S T U v w X Y z a b c d e
Base: Allanswering 228 127 01 36 o7 95 3 35 50 90 56 88 5 28 Y] o T i3 20 9 27 a0 57 9 a0 5 16 59 52 20 38 73
Weighted 122 7T 517 7 517 ER 25 26" 38" 35 E 73 Eil 16+ Gl E o E T4 i 2+ 2 28" 28" 2" 7 El E 3 ER 187 25
75 31 3 5 7 23 7 6 13 19 T 36 0 7 T 0 0 T T 2 3 6 10 10 10 3 3 13 16 2 7 7
The Liberals 3% aa% 26% 20% 3% 2% 31% 23% 34% 53% 2% 83% - 25% 22% - - 19% % aa% 23% 20% 37% 37% 43% 72% 34% 30% 52% 25% 23% 20%
B GH 3
a1 % 17 5 18 18 g ey 0 ey 25 2 T 3 B o 0 2 3 T 7 g ) g 7 1 3 1 0 2 7 B
The Consenvatives 3% 34% 3% 28% 36% 32% 3% 2% 2% 33% 91% % 33% 19% 28% - - 25% 19% 19% 31% 35% 38% 34% 33% 18% 37% 37% 31% 21% 36% 35%
K
9 5 3 o 3 5 z 3 3 T 0 0 0 g 0 0 0 0 0 0 0 z T 7 T ) 0 3 3 ) T 3
The Bloc Québécois (BQ) 7% 8% 7% - 7% 10% 9% 13% 7% 2% - 1% - 50% 8% - - - - - - 1% % 16% 5% - - 8% % - 5% 1%
T
3 3 0 T 7 0 0 0 3 T 0 T T o 0 o 0 o 0 0 T 2 T 0 0 0 T 2 0 0 0 0
The NDP 3% % % 5% 5% - - - T 2% % % 38% - - - - - % - 7% 8% 3% - - - 1% 7% - - 2% -
E
B T T 0 T T 0 0 T 0 0 0 0 0 z 0 0 0 0 0 0 0 0 ) 0 ) 0 ) 0 ) 0 T
The Green Party 1% 1% 2% 3% 1% 1% - - 3% 1% - - - - 26% - - - - 9% - - % 1% 2% - - 1% % 5% - 2%
T 0 0 0 0 0 0 o 0 o 0 o 0 o 0 o 0 o 0 0 0 o 0 0 0 0 0 0 0 0 0 0
The People’s Party of Canada, % % % 2% % - - - % 1% - 1% - - - - 100% - - - 3% - 1% - - - - 1% - 4% - -
2 5 6 5 9 7 5 5 & 3 z T T T T 0 0 5 9 T 7 T 5 3 7 ) T z z 7 G 5
None of them hey'e al the same 18% % 3% 34% 17% 14% 22% 2% 21% 8% 5% 8% 29% 7% 15% - - 56% 68% 28% 36% 18% 16% 12% 7% 10% 19% 8% 7% 5% 34% 23%
A E T
J— 122 7L 51 7 51 E 2 %6 Ed & 52 @ 3 6 3 o 0 5 ) 5 5] 2 28 28 22 7 g 32 E S 8 2
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlab - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (interest rates/Inflation) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female PostSec  UnivGrad e Party Party  Party(NDP)  (BQ) a ar other party _ballot sure 1
A 5 c ) E 3 G H I 3 K L 0] N o P Q R S T U v W X Y z a b < d e
Base: Allanswering 0 15 %5 9 16 15 0 5 24 T 9 14 4 2 2 0 0 3 Q 2 7 8 8 a 9 Z 2 7 5 7 9 El
Weighted i 7 o+ & & 7 e o e o & Fe o T P 7 T 7 7 7 P e e T 3 7 e 7 o
5 2 3 0 2 2 0 2 3 0 @ 0 0 0 0 [ 0 [ 0 [ 0 T T T 1 o 0 T 1 o 1 T
The Consenatives 2% 30% 25% 0% 2% 4% - 2% 30% % 100% - - - - - - 26% - - 1% 39% 26% 51% 5% - 28% % 13% 36% 28%
5 3 T 1 7 7 0 T 7 7 0 5 0 0 0 0 0 0 0 0 1 T 1 T 1 T 0 7 1 T 0 T
The Liberals 2% 3% 5% 2% 2% 30% - 1% 2% 3% - 1% - - - - - - - - 18% 0% 25% 32% 38% - - 5% 5% 16% 10% 17%
T T T T T 0 0 [ T T 0 [ T [ 0 [ 0 [ 1 T 0 [ 0 T 0 T 1 T 0 T 0 T
The NOP &% % 5% 2% 5% % - - 6% 13% - - 38% - - - - - 20% 0% - - 9% - % - 55% - - - 9% %
T 0 0 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The People’s Party of Canada 5% &% % 0% - &% - - 9% - - 8% - 52% - - - - - - 1% - - - - 37% 5% - - - - 10%
T 0 T 0 T 0 0 [ T [ 0 [ 0 [ 1 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Green Party 5% i 3% - % 5% - - %% - - - - - 100% - - - - - - - 16% - 9% - - 7% - - - 10%
T 0 T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The Bloc Québécois (BQ) 5% - 5% 9% - 5% - - 5% 10% - - - 8% - - - - 15% - 13% - - 17% - - - - - 12% - 10%
5 0 T z T T 0 T z T 0 T T [ 0 [ 0 T z T 1 T 1 T 0 T 0 T 0 z 1 T
None of them -they'e all the same 26% &% 0% 46% 2% 6% - 1% 21% 26% - 10% 62% - - - - 4% 65% 60% 0% 21% 25% - 1% 63% - - 1% 59% 5% 18%
- 7 7 1 5 G 7 0 7 0 7 2 5 T T 1 T 0 7 3 T 3 3 3 ? 7 T 1 3 3 7 3 @
9 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Housing (e.

affordability, availability)) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female PosiSec  UnivGrad e Parly Party (NDP)  (BQ) party P other party _ ballot
A 8 E I 3 Q Y

Base Al answering 5 18 a7 17 El 7 9 [ 2 20 6 2% 8 s 2 0 0 5 8 3 5 ) 15 9 5 3 0 i a i 2 5
Weighted o o e - g e o - > - e 2% e re > r = > = - = o e o > & > = 1o o

T 5 [ 5 5 3 0 z 3 3 0 0 0 o T 0 0 z 0 Z 3 T 5 2 Z 0 Z 2 T 3 7 2
The Liberals % 2% 5% 75% 2% 0% 5% 5% 1% 5% - 2% - 0% 1% - - = - T00% 2% % 6% 2% % 5% 26% 61% 75% 8% 2%

7 T 3 o z z o T T z o 0 z T o 0 o 0 o 0 o z o T o 0 o T o 0 T T
The NDP 0% 2% 0% 5% % 3% - 5% 5% 21% % - 6% 5% 2% - - - - - 7% 26% - 6% - 30% - 1% 9% 7% 9% 2%

7 T 3 0 2 T 0 T z T z T 0 T 0 0 0 0 0 0 0 z T T 0 0 0 T 0 0 T T
The Consenatives % 1% % ™% 1% % - 5% 20% &% &% % % % - - - % - - 0% 6% % 5% - - - 1% - 0% 7% 1%

z o z o 0 z z 0 T 0 o z o 0 o 0 o 0 o 0 o 0 o 2 o 0 o 0 o 0 o 2
The People's Party of Canada % - % &% - 7% 1% - % - 0% - % - - - - - - 9% - - 2% - 26% - - - % - 2%

T T 0 T 0 0 0 0 T 0 T 0 0 0 0 0 0 0 0 0 T 0 0 0 0 0 T 0 0 0 0 [
The Green Party 1% 5% - i - - - - &% 21% - - - - - - - - - 1% - - - - - 25% - - - - -

0 o 0 o 0 o o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0
The Bloc Québécois (BQ) % - 2% - - % - - 5% - - - 1% - - - - - - - - - - T5% - - - - - - %

5} 3 [ 0 [ 3 7 7 T z 0 3 T T 0 0 0 T 5 0 0 7 7 T T T 0 z 0 0 5 3
None of them -theyre allthe same 71% 28% 2% - 3% 7% 5% 2% 6% 26% - 1a% 2% 26% - - - 1% 00% - - T 30% % 8% 2% - % 20% - 5% 2%
— o [ £ 7 = Ey T 5 g 7 3 ) 7 T z T O 7 S ? S 5 ] 7 3 T Z S Z 5 T g

9 00% 00% 00% 0% 00% 100% 00% 100% 00% 100% 00% T00% 00% 100% 00% - - 00% 00% T00% 00% 00% 00% 00% 00% 00% 0% 00% 00% 00% 100% 00%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Racism/discrimination) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

Univ Grad

The

rvativ The Liberal
e Party

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green

People’s

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s party  Party(NOP) __(8Q) party Party _other party ___ballot sure
A 3 c ) E 3 G H I 3 K L 0] N o P Q R B T U v w X 2 z a b < d e
Base: All answering [ 17 % 5 3 f 0 7 2 21 T 18 7 2 7 0 0 3 5 7 8 5 7 5 5 T 3 £l 5 2 a 7
Weighied Tor T o= Ol o G Gl 5 & o ol 7 T e T > == e > 7 e > o El e > Gl T £
5 7 5 3 3 3 0 2 2 7 0 7 0 [ 0 [ 0 T 0 2 T 2 T 2 1 T 1 T 2 2 1 T
The Liberals 4% 2% 6% 4% 52% 55% - 36% 8% 8% - 80% - - - - - 100% 6% 32% 5% 66% 39% 0% 1% 24% 36% 75% 38% 100% 1%
3 2 T 2 0 T 0 2 0 T 0 0 0 T 2 0 0 0 0 T T 0 0 0 T 0 T 0 T T 0 0
The Green Party 5% 20% 1% 9% 7% 6% - 29% - 5% - - - 4% 52% - - - - 1% 2% - 3% - 39% - 2% % %% Ta% - 0%
2 0 2 T 0 T 0 0 T T 0 0 T 0 0 0 0 0 0 0 0 0 0 T 0 . 0 . 0 T 0 T
The NOP 2% % 8% 9% % 2% - - 6% % - % 7% - 2% - - - 5% 9% 9% 1a% - 25% - 00% - % - 3% - 36%
T T 0 T 0 0 0 T 0 0 0 T 0 0 0 0 0 0 0 T 0 0 0 0 0 0 T 0 0 0 0 0
The People's Party of Canada % 1% % 7% - - - 9% - % - 2% - - - - - - 20% 7% 9% - - - - - % - - &% - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
The Consenatives 3% &% - - % - - - - % 100% - - - - - - - - - - - 16% - - - - 2% - - - -
Z T z 2 T 0 0 T 2 T 0 0 0 0 T 0 0 0 T T T 0 T 0 0 0 0 T 0 2 0 0
None of them -they're all the same 19% 5% 2% 2% 2% % - 6% 36% 0% - % 29% 36% 36% - - - 9% 9% Z5% 20% 30% 5% - - - 3% - 30% - 3%
S 5 s 0 9 5 5 0 5 5 s 0 9 2 T 7 [ 0 T 2 5 7 2 3 3 2 T 3 T 2 5 1 3
oma 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE Detailed Tables
Stab

2. (ind lving First Nations and peoples) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc voteiNoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female < PostSec  UnivGrad e Party Part Party (NDP)  (8Q) Party P other party _ballot
A B E G ] v Y <

Base: Allanswering 35 15 20 10 10 15 3 3 15 ) 3 7 a 0 5 0 0 3 3 a 3 a Q [l Q T 5 7 3 5 3 12
Weighted Tor o 5 & & 7 & P & & T g 7 7 o T 7 e 7 P o e 7 e 7 =0 T Pl T o

5 T @ T T 7 2 2 T T 0 5 0 0 T [ 0 [ 0 [ 0 [ T Z 2 o 0 ) 0 o 0 @
The Liberals 2% &% 9% 2% 1% 51% 27% 100% 2% 20% - 0% - - 27% - - - - % 16% - 20% 9% 50% 100% 9% 10% - 18% 32% 62%

3 7 T 1 T 1 0 0 3 T 0 0 T 0 1 0 0 0 0 0 1 0 0 T 0 T 1 T 1 T 0 T
The NOP 7% 2% 2% 6% 5% 21% - - 3% 1% 2% 3% 8% - 39% - - - 3% 12% 2% 25% 1% 31% 11% - 12% 18% 7% 24% - 11%

3 3 T z T 0 z [ T [ 0 3 0 [ 0 [ 0 [ 0 z 0 [ 1 T 0 T z T 0 T 0 T
The Bloc Québécois (BQ) 15% 21% - 7% &% - 9% - &% - - 2% - - - - - - - 1% - - 1% - - - 53% 10% - - - -

7 0 T 1 0 1 0 0 0 7 0 T 0 0 1 0 0 0 0 0 1 0 0 T 1 T 0 T 0 T 0 T
The Green Party 9% % 5% 9% - % - - - 31% - 6% 16% - 34% - - - - - 8% - - - 1% - 9% - - 1% - 9%

T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
Some other Party % % % 6% % - - - 6% 8% - 3% - - - - - 34% - - 1% 25% - - - - % - 18% - -

T 1 0 1 0 0 0 0 0 T 0 0 0 0 0 0 0 0 1 T 0 0 0 T 0 T 1 T 0 T 0 T
The People’s Party of Canada % 7% - 1% - - - - - 2% - - - - - - - - 5% 18% - - - - - - 16% - - - - -

T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Consenatives 2% - 5% - % - - - % - 2% - - - - - - - - - - - 10% - - - - - - 5% -

7 3 T 0 3 1 7 0 T T 0 3 0 0 0 0 0 T 0 0 0 T 7 T 1 T 0 3 0 T 0 T
None of them -they're all the same 2% 28% 6% - 9% 20% 34% - 20% 5% 30% 2% - - - - - 66% 25% - - 50% 8% 20% 21% - 52% 33% - 33% 17%
S 19 10 9 © 3 7 6 2 6 © T 2 2 [ 2 [ 0 T 2 7 2 2 2 @ 3 ] ] 5 1 2 1 5

oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% - B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Energy, including pipelines, gas prices) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

Detailed Tables

EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvativ Theliberal Democratic ~Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowlNot
TOTAL Female Univ Grad e Party Party (NOP)  (BQ) Party P other party ballot
A B E G ] P Q Y ©

Base: Allanswering 53 27 2 5 3 32 3 5 27 i 9 i 5 i 3 T T 2 z T 7 3 0 1 3 5 7 7 16 7 6 16
Weighted Pl 7 i e 5 o & e = 7 ra i Vi o i o i o i = T i re 7 & o i o o Fi e 7o

) 8 3 0 1 S 5 2 3 2 0 S T T 0 0 0 0 0 0 0 T T 2 1 g 0 T 6 ) 0 3
The Liberals 40% 46% 30% 11% 25% 8% 75% 56% 24% 2% - 81% 2% 21% - - 100% - - - 13% 5% 19% 3% 24% 87% 21% 20% 54% - 19% 0%

7 5 3 B T 7 7 T 3 2 7 o 0 T 0 o 0 2 0 0 B o T 2 B 0 B 1 B 0 0 2
The Consenvatives 21% 28% 20% 3% 29% 23% 25% 23% 29% 26% 100% % - 1% - - - 85% 3% - 50% 2% 31% 28% 3% 7% 79% 39% 1% - 14% 32%

3 z B T T z 0 0 T 2z 0 T 0 T T 0 0 0 0 0 T 0 T ) T ) 0 ) T T 0 T
The Green Party 12% 11% 15% 32% 15% 8% - - 13% 30% - 9% 7% 15% 100% - - - - - 37% - 20% 6% 20% - - 16% 11% 70% 15% 4%

7 T T 0 0 B 0 o T T 0 o 0 2 0 o 0 o 0 0 0 o 0 1 0 0 0 0 T 0 0 1
The Bloc Québécois (BQ) 7% 5% 10% - 7% 9% - - 12% 10% - - - 35% - - - - - - - 31% - 12% 8% 6% - - 8% - 18% 10%

T o T T T o 0 0 T 0 0 0 T 0 0 0 0 0 0 T 0 0 0 ) 0 ) 0 ) 0 T 0 T
The NOP 5% % 9% 14% 9% 2% - - 9% 6% - 2% 25% 8% - - - - - 100% - - 12% - 8% - - 16% - 30% - 6%

0 0 0 0 0 0 0 o 0 o 0 o 0 o 0 o 0 o 0 0 0 o 0 0 0 0 0 0 0 0 0 0
The People’s Party of Canada, 2% % - - - 2% - - % - - - - - - 100% - - - - - - - 7% - - - - % - - -

B T T o T T 0 T T 0 0 0 0 0 0 0 0 0 T 0 0 0 T T 0 ) 0 ) T ) T T
None of them -they'e all the same 7% 5% 12% - 1% 7% - 21% % 5% - % 18% 6% - - - 15% 66% - - - 18% 15% 6% - - - 7% - 34% 8%
- 28 7 11 7 g 5 3 7 T 7 2 11 2 5 T o 0 2 T T 3 T 2 7 3 g B 3 ] 2 B 7

9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Drug abuse) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party  Party (NDP) (BQ) party Party otherparty __ballot ure 1
A O c D E 3 G H | 3 K L 0 N ) P Q R s T U v w X 02 z a b < d e

Base: Al answerng 18 7 E 2 10 5 3 a 6 5 6 5 0 3 0 T 0 T 1 T T 5 5 5 1 [ z T 1 T 5 5
Weighted e & e P = 3 o 5 3 o 7 = = = 7 = o 7 T T o r 5 o o e = e v

3 2 O T T 0 0 2 0 T 0 3 0 o 0 o 0 o 0 T 0 o T o 0 o T T 0 o 0 o
The Liberals 21% 38% 5% 55% 6% 1% - 55% - 5% - 1% - - - - - - - 100% - - 6% % - - 55% 35% - - - 1%

z G z G T T o T T T 7 G o T o G o T o T o G T T G T G T G T T T
The Consenatives 7% 7% 26% - 3% 9% - 20% 2% 0% 2% - - 25% - - - - - - - &% 2% 6% - - - 1% - - 2% 8%

z T z o z T z G T G o G o z o G o G o G o G z T o T o T T T z T
The Bloc Québécois (BQ) 6% % 2% - 1% 9% 20% - 2% - - - - 75% - - - - - - - - 2% 2% - - - - 100% - 3% -

z 7 T G z G 7 G o G o G o G o B o T o T o B o T G T G B G T G T
The People's Party of Canada 6% 3% - - 25% - 39% - - - - - - - - 00% - - - - - 5% - - - - - 5% - - - -

T T T T T o o T o G o T o G o G o G o G T G o T o T T T o T o T
The Green Pary %% 4% % 5% 3% - - 25% - 5% - 2% - - - - - - - - To0% % - - - - 5% - - - &% -

T G T G T T o G T G T G o G o T o T o T o G o T G T G T G T G T
The NOP ™% - 2% - - 3% - - 6% - 3% - - - - - - - - - - - - % T00% - - - - - - 6%

z o z o z o z G o G o G o G o G o G z G o z o T o T o T o T z T
None of them -theyre allthe same 15% - 29% - 2% - 2% - 1% - - - - - - - - 100% 100% - - a3% - - - - - - - - 5% -
— ) S 7 B g 3 B 3 3 B B 7 0 3 O B O T B T T S 7 3 T T B 7 T T 7 B

9 100% 100% 100% 100% 100% 100% T00% 0% T00% 0% T00% 100% - 0% - 0% - 00% T00% 0% T00% 00% T00% 0% T00% - T00% 0% T00% - T00% 00%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (infrastructure (e.g., public transit, bridges, roads)) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?

GENDER

EDUCATION

The

rvativ The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female < PostSec  Univ Grad e Party ty  Party(NDP)  (8Q) Party Party _other party _ ballot sure 5
A 3 c ) E 3 G H I 3 K L 0] N o P Q R s T Y v W X Y z a b < d e
Base: All answering 59 33 % 10 % 23 4 8 % 2T 3 23 3 10 a 0 0 5 8 5 5 3 ) 10 10 3 7 18 8 3 8 15
Weighied e 7 g 7 e T = Gl e - 7o o 7 G 7 > 7 == 7 G G Gl = e G o 7 > £ 7
7 S z T 7 0 5 3 6 7 0 [ T T T [ 0 T T T 0 3 7 3 3 3 1 5 © T 1 T
The Liberals 53% 2% 8% i 60% 73% 69% a6% 53% 5% - 82% 2% 8% 5% - - 3% 30% 2% - 50% 69% 56% 76% 100% 10% 2% 3% 21% 54%
5 2 3 T z 3 0 2 T 2 T 0 0 2 T 0 0 0 T 0 T 0 T 2 T 0 0 T 0 0 0 2
The Consenatives 16% 0% 29% 2% 1% 2% - 37% 1% 2% 6% 3% 7% 3% 30% - - 6% 20% - 2% 7% 19% 31% 2% - % 13% 7% 26% 15% 35%
2 2 0 2 0 0 0 0 T T 0 0 T T 0 0 0 0 0 T T 0 0 . 0 . T . 0 . 0 0
The NOP &% i 3% 2% 3% - - - %% 1% - - 1% 2% - - - - 1% 34% - 6% - - - 21% % - 21% - -
T T 0 T T 0 0 0 T T T 0 0 0 0 0 0 0 T T 0 T 0 0 0 0 T T 0 0 0 0
The People’s Party of Canada % &% - % % - - - 5% 5% 2% - - - - - - - 20% 15% - % - - - - 12% 6% - - - -
T 0 T 0 T 0 0 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . T 0
The Bloc Québécois (BQ) % - 10% - % % - - 1% - - - - 25% - - - - - - % % % - - - - - - 28% 6%
6 3 z 7 T 0 2 T T T 0 2 0 0 T 0 0 T T 3 T T 0 0 0 0 3 0 0 T T 0
None of them -they're all the same 7% 6% 20% 51% 3% 3% 3% 7% 2% 1% - 5% - 0% 25% - - 51% 29% 1% 34% 27% - 5% - - 50% 5% - 54% 36% 5%
S 2 2T T 7 [ S 5 5 [ 9 2 o 3 5 2 [ 0 2 3 5 3 5 6 5 5 3 © 5 7 2 3 7
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2 Now, on

that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[
Know/Not

FEMALE

Detailed Tables

TOTAL Female PostSec  UnivGrad e Party art Party (NDP)  (8Q) a Party other party _ballot sure 5 1
A B c ) E 3 G H ] J K L ] N o P Q R S T Y v w X Y z a b < d e
Base: Allanswering 59 67 2 9 35 55 4 ey 5 38 % 19 2 23 B T 1 a 7 T 8 10 % 24 24 7 7 25 38 5 10 7
Weighted 53 £l oo & 5 ol 7 o 207 5 T o T e 7 o T P o o o = T3 FE v 3 7 T P Pl e 7
30 23 7 3 10 18 @ 7 13 9 15 3 0 5 2 [ T T 7 [ 2 3 7 5 [ T 1 5 13 T 2 @
The Consenatives 8% 56% 56% 0% 55% 59% 53% 5% 65% 58% 100% 30% 52% 3% 84% - 100% 37% 7% 100% 57% 58% 54% 45% 73% 45% 59% 58% 59% 62% 7% 59%
3 3 T 1 7 7 0 7 7 0 5 0 0 0 0 0 0 0 0 1 0 1 7 7 T 1 T 3 T 0 T
The Liberals 2% 4% % 2% 2% 23% - 10% 16% - 53% - % 16% - - - % - 2% 6% 9% 12% 12% 1% % 9% 15% - 8% %
3 z T 0 T 3 0 T T T 0 [ 0 3 0 [ 0 [ 0 [ 0 [ 1 T 1 T 0 T z T 1 T
The Bloc Québécois (BQ) % 5% % - 3% &% - 5% 5% % - - - 27% - - - - - - - - % % 6% 15% - - 9% - 13% 6%
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The NDP. % % - - - 2% - - 2% - - - - - - - - - 5% - - - - % - - - - 2% - - -
T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The People's Party of Canada % % - - - % - - 2% - - - - - - 100% - - - - - - - % - - - - 2% - - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
Some other Party % 1% - - 2% - - - - 3% - 5% - - - - - - - - - - 3% - - - - 3% - - - -
T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Green Party 1% - 3% 8% - - - - - 2% - - - 3% - - - - - - 8% - - - - - - - - 16% - -
EE) 7 7 0 3 5 7 7 3 7 0 T 0 3 0 0 0 T 3 0 0 7 B 3 1 T 0 7 3 T 1 7
None of them -they're all the same 7% 8% 30% 0% 3% % 20% 6% 15% 13% - 13% 8% 23% - - - 63% 54% - 1% 36% 25% 26% 8% 26% - 30% 13% 2% 33% 3%
S 52 39 3 5 18 30 8 9 20 5 15 9 T ey 2 [ T 2 10 [ 2 5 3 3 e 3 2 ] 23 2 ] 7
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Relations across provinces) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

Univ Grad

The

rvativ The Liberal
e Party

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green

People’s

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Party  Party(NDP)  (BQ) Party Party _other party _ ballot ure
A 3 c ) E 3 G H v 3 K L 0] N o P Q R S T Y v w X Y z a b < d e
Base: All answering 3 23 15 7 T 23 3 5 16 ) 8 7 0 13 3 0 0 a 3 0 7 4 7 s 2 3 3 £l T T 2 12
Weighied 7 T & > G T G re 7 Gl G 7 Gl F > F 7 > 7 o T e i e 5 o Fe &
G 7 B 0 T 5 2 T 2 [ 6 [ 0 [ 0 [ 0 [ 0 [ 0 [ T T 7 T 0 T 3 T 0 T
The Consenatives 7% 26% 2% - 2% 1% 1% 8% 1% % 100% - - - 5% - - - - - - 20% 24% 18% 50% 20% 36% - 31% 24%
6 5 T 0 0 5 2 2 T 0 0 7 0 T 0 0 0 0 0 0 0 0 0 2 0 3 0 0 7 0 0 T
The Liberals 2% 31% 3% - 5% 4% 3% 38% 9% % - 59% - 2% - - - 20% - - - - 13% 8% % 8% - 1% 6% - - 16%
5 a T T T 3 0 0 T a 0 0 0 a T 0 0 0 0 0 T 0 T T T . T T 2 . 0 T
The Bloc Québécois (BQ) 22% 26% 13% 52% 22% 18% - - 2% 73% - - - 63% 65% - - 18% - - 52% 16% 26% 2% 5% 2% 69% 29% 8% - - %
z 2 0 0 T 0 0 T T 0 0 T 0 T 0 0 0 0 0 0 0 T 0 0 0 0 0 T 0 0 0 0
The NOP % 1% 5% 2% 2% 2% - 2% 2% &% - 1% - 5% - - - 20% - - 23% a1% 10% - 5% - 31% 29% - - - 5%
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
The Green Party 2% - % 25% - - - - % - - 7% - - - - - - - - 25% - - - - - - - - 100% - -
Z 0 3 0 T 2 2 T T 0 0 2 0 0 0 0 0 T T 0 0 0 T 0 2 0 0 0 0 0 T 2
None of them -they're all the same 16% 3% 0% - 2% 5% 25% 2% 3% 5% - 2% - - - - - 2% 100% - - 23% 21% 5% 2% - - 1% - - 69% 36%
S & 3 5 2 5 3 6 7 7 5 6 7 0 5 T [ 0 2 T [ 2 2 3 T s 3 1 T 9 T 1 5
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% - - 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Relations with other countriesftrade) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[
Know/Not

FEMALE

Detailed Tables

PostSec Univ Grad art Party (NDP)  (8Q) a ar other party _ballot ure 5 1
A 5 c ) E 3 G H ] J K L ] N o P Q R S T [ v W X Y z a b < d e
Base: Allanswering 50 35 %5 9 17 34 T 7 33 22 13 21 a 14 2 0 0 T 5 3 3 7 0 £y 21 Z B 5 21 3 9 13
Weighted 25 g T & 7 o T 7 e o 7 o 7 & T o 7 P 7 7 o = o e 7 e o T 7 &
S s 5 2 5 © 0 T G © 0 s 0 2 0 [ 0 [ T 2 0 2 3 Z 7 T 2 Z 7 o 3 Z
The Liberals % 45% 9% 2% 8% 0% - 38% 5% 62% % 9% 22% 0% 55% - - - 56% 82% 1% 69% 8% 0% 36% 100% 2% 50% 6% 35% 89% 32%
B 5 7 7 T 5 T T 5 7 3 0 0 T 0 0 0 0 0 0 7 0 1 T 7 T 7 T 7 T 0 3
The Consenatives 30% 29% 3% 38% 7% 3% 100% 22% 33% 18% 81% 5% 23% 23% - - - 100% - 18% 52% 13% 20% 30% 31% - % 23% 26% 30% 11% 2%
T T T 0 T T 0 [ 0 T 0 [ 0 T 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 1 T 0 T
The Bloc Québécois (BQ) 5% 8% - - - o% - 3% 0% - - - 15% - - - - 18% - - - - 19% % - - - 15% - - -
T 1 0 0 T 0 0 0 T 0 T 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T 0 T
The People’s Party of Canada 2% 3% - - 7% - - % - 7% - - - - - - - - - - 18% - - - - 1% - - - -
T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The NDP 2% 3% - - - 3% - 3% - - - 23% - - - - - - - - - - - % - - - 5% - - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The Green Party 1% - 3% - - 2% - 3% - - - - - 5% - - - - - - - - - % - - - - - - &%
T z Z T T z 0 T T T 0 T T T 0 [ 0 [ 1 [ 1 [ 0 T 1 T 1 T 1 T 0 T
None of them -they'e all the same % 1% 5% 20% % 3% - 0% 0% 0% 5% % 32% 2% - - - - 26% - 34% - 1% 1% 1% - 15% 13% 9% 35% - 18%
- % 7 ) 5 7 6 T 3 ) S 7 S 2 5 1 T 0 T 3 7 3 3 2 5 0 T 7 7 S T 3 5
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proportions/Means: Columns Tested (5% risk level) - A/B - CIDJE - FIG/H - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Ziafb - cldfe Overlap formulae used. * small base; ** very small base (under 30) ineligible or sig testing

(tab) of (tables)



FED VOTE

Stab

2. (New technology) Now, on

most important to you,

GENDER

you think is the best to deal with them?

EDUCATION

The

rvativ The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL e Party Party  Party(NDP)  (BQ) Party Party _other party _ ballot ure
A ] c ) E 3 G H ] 3 K L 0] N o P Q R S T Y v w X Y z a b < d e
Base: Allanswering 19 13 6 5 T 3 3 7 Q 5 3 a 2 3 3 0 0 2 2 2 3 a 7 z 1 o 3 9 1 z 2 z
Weighted v o & 7 o P 5o e 7 P 7 7 T 7 T 3 T P T 7 & e ¥ T 7 ¥ P 7 T
@ 7 o 0 3 0 2 T T 0 0 2 0 2 0 [ 0 [ 0 [ 0 3 T o 0 o 0 3 0 o 0 o
The Liberals 0% 5% &% 4% 3% 2% 39% 24% 34% 1% - 60% - 67% 34% - - - - - 34% 76% 15% 37% - - 32% 52% - - - 32%
3 1 7 0 3 0 7 T 0 0 7 T 0 0 0 0 0 0 0 0 0 0 3 T 0 T 0 T 0 T 7 T
The Consenvatives 20% 1% 30% - 3% - 2% 31% - - 8% 0% - - - - - - - - - - 9% - - - - 17% - - 5% -
Z T Z z T 0 z [ 0 T 0 [ 0 [ 1 [ 0 z 0 z 1 [ 0 T 0 T 1 T 0 z 0 T
The Green Party 18% 1% 28% 64% % - 29% - - 38% - - - - 66% - - 63% - 9% 2% - 6% - - - 39% 5% - 82% - -
T 1 0 0 0 1 0 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 0 T 0 T 0 T 1 T 0 T
The Bloc Québécois (BQ) % 12% - - 5% 35% - - 3% - - - - 33% - - - - - - - 13% - 63% - - - 7% 100% - - -
T T T 0 T 0 0 [ 0 [ 0 [ T [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The NDP. 5% % - - &% - - - 13% 1% - - 100% - - - - - - - - 1% 6% - - - - 1% - - - -
3 1 7 1 T 1 0 7 0 T T 0 0 0 0 0 0 T 1 0 0 0 1 T 1 T 0 T 0 T 1 T
None of them -they're all the same 20% 1% 3% 2% 5% 2% - 5% 15% 34% 32% - - - - - - 37% 100% 21% 25% - 2% - 100% - 29% 7% - 18% 35% 8%
S 14 9 G 3 B 2 5 7 3 2 3 3 T 3 T [ 0 3 T 2 T 3 6 T 1 o 1 7 1 Z 3 T
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - B 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Women's issues) Now, on

most important to you,

TOTAL

GENDER

you think is the best to deal with them?

EDUCATION

The

rvativ The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green

People’s

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Univ Grad e Party Party  Party(NDP)  (BQ) Party Party other party _ballot ure
A 3 c ) E 3 G H i 3 K L 0] N o P Q R S T U v W X Y z a b < d e
Base: All answering 35 g 27 15 5 5 T © 13 5 2 12 3 2 3 T 0 2 7 T ) £ 6 3 2 . 2 @ 2 3 1T 3
Weighied o Gl e 7 & £l 7o = 5 Gl Fe Gl 7 T 7 > o 7 T Gl Gl > > Fe T e Fe Gl o T
7 3 z 2 3 2 0 2 3 T 0 5 0 [ 0 [ 0 [ T [ 2 2 T T 1 T 0 T 1 2 1 T
The Liberals 0% % 8% 4% 5% 71% - 51% 60% 26% 8% 88% - 50% - - - 1% 1% - 9% 30% 6% 76% 63% - 5% 35% 6% 32% 5% 74%
5 2 3 T Z 0 2 T T T 0 0 2 0 0 2 0 0 T 0 T 7 0 0 0 0 0 2 0 T T 0
The NOP 30% % 5% 21% 9% - 100% 1% 2% 26% - - 82% - 21% 100% - 39% 5% - 25% 65% 12% - - - - 65% - 25% 34% -
T 0 T T 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0 0 T 0 0 . 0 . 0 . 0 T 0 0
The Green Party 5% - % 12% - - - - - 1% - 7% - - 26% - - - - - 3% - - - - - - - - 1% - -
T T 0 T 0 0 0 0 T 0 T 0 0 0 0 0 0 0 0 0 T 0 0 0 0 0 T 0 0 0 0 0
The Consenvatives % % - % - - - - 0% - 62% - - - - - - - - - 9% - - - - - 5% - - - - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
The Bloc Québécois (BQ) 2% 7% - - - 5% - - - i - - - 50% - - - - - - - - - - 3% - - - 34% - - -
3 0 3 2 T 0 0 2 0 T 0 0 0 0 T 0 0 0 2 T T 0 T 0 0 0 0 0 0 2 T 0
None of them -they're all the same 19% - 30% 2% 16% 3% - 3% 7% 26% - 5% 18% - 53% - - - 5% 100% 1% 5% 2% 24% - - - - - 29% 31% 26%
S 8 5 [ 7 5 3 2 5 5 5 T 5 3 T 2 2 0 T 3 T 6 5 2 2 1 T 1 T 1 5 7 T
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

Now, on

GENDER

that are most important to you, which party do you think is the best to deal with them?

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female PostSec Univ Grad art Party (NDP)  (8Q) Party Par other party _ballot ure 5
A 5 c ) E 3 G H ] J K L ] N o P Q R S T U v w X Y z a b < d e
Base: Allanswering 115 38 i 5 17 92 3 % 62 21 21 38 5 20 8 0 0 5 18 2 7 5 7 34 9 £l 0 3 35 5 14 57
Weighted EQ o7 o e & o 5 o 2 7 o PP 7 o o P o T 7 7 5 o+ P e T T e 7 P
19 s 1T T 2 7 5 © G 2 T 6 0 0 T [ 0 T 0 T 0 [ T 5 6 3 0 ) s T 1 5
The Liberals 2% 2% 2% 2% 2% 35% 53% 4% 20% 30% %% 75% - % 13% - - 36% 3% 63% - 13% 27% 2% 2% 82% - 25% 3% 21% 20% 30%
EE) 7 3 0 7 3 7 7 3 7 3 7 0 T 0 0 0 0 1 0 0 7 7 T 7 T 0 T 3 T 3 3
The Consenatives 18% 21% 16% 2% 51% 1% 18% % 20% 21% 62% 0% 23% 1% - - - - 8% - 18% 65% 2% 7% 16% 18% - T5% 1% 12% 1% 10%
G z 3 T T 7 0 z 3 T 0 z T [ 0 [ 0 [ z T 0 [ 1 z 1 T 0 T z T 1 T
The NOP 0% 3% &% 2% 5% &% - % 1% 19% % 8% 63% % - - - 18% % 37% 18% - 24% 1% 6% - - - 1% 24% 18% %
5 1 7 0 0 5 0 T 3 T 0 0 0 5 0 0 0 0 0 0 0 0 0 T 7 T 0 T 1 T 0 7
The Bloc Québécois (BQ) 9% 7% 10% - 5% 1% - 8% 4% 10% 5% - - 54% - - - - - - - 12% - 7% 15% - - - 7% - % 13%
Z 0 Z 0 T z T T 0 [ T [ 0 [ z [ 0 [ 0 [ 0 [ 0 T z T 0 T 0 T 0 Z
The Green Party % % 5% - - 5% 3% % 2% - 7% - - - 38% - - - - - - - - - 9% - - - 2% - - 6%
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
Some other Party % - % - - % - - 1% - - - - - 9% - - - - - - - - 2% - - - - - - - 1%
0 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The People's Party of Canada o - % - - % - - - % - - 1% - - - - - - - - - - - % - - - - - - 1%
i 3 5] 7 T 3 T 7 3 T T 7 0 3 7 0 0 T 7 0 7 0 0 5 g T 0 T 3 7 1 i
None of them -they're all the same 26% 6% 3% 2% % 26% 6% 38% 2% 5% 5% 8% - 27% 0% - - 6% 72% - 64% % 7% 31% 3% - - - 1% 2% 9% 35%
S 59 19 0 ] B a7 9 19 24 7 10 2 2 9 2 [ 0 2 10 T 3 3 5 19 % @ 0 T 18 @ 7 29
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - B 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Defence, the Armed Forces) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvaiv Theliberal Democratic Québécols TheGreen  Peoples  Orsome  ouldspoil  Know/Not
TOTAL < Univ Grad e Party Party _Party (NDP) Party _other party ___ballot
) E 3 H I P Q v 2 z <

Base: All answering 10 5 5 3 4 3 0 T 7 2 2 2 2 1 0 0 0 T 2 2 T T 3 T 1 T 3 T 1 0 3 2
Weighied = > 7o > 7o = T 7 T Fe T Fe o o T o o o 7 o o o > o o > o

T T T T o T 0 [ T [ 0 T 0 [ 0 [ 0 [ 0 T 0 [ 0 T 0 T 1 T 0 T 0 T
The Liberals 26% 23% 30% 36% - 69% - - % - - 100% - 100% - - - - - 5% - - 00% 100% - 36% - - - - 100%

T T 0 0 T 0 0 0 T 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0
The Consenatives 20% 35% % - 3% 31% - - 27% 3% 5% - 5% - - - - - 6% - - - 6% - - 100% - 100% 100% - 2% -

T T 0 T 0 0 0 0 T 0 T 0 0 0 0 0 0 0 0 T 0 0 0 . 0 . T . 0 . 0 0
The Peaple's Party of Canada 2% 2a% - 3% - - - - 9% - 65% - - - - - - - - 515 - - - - - - 3% - - - - -

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

The NDP 8% - 7% - - - - - 57% - - 6% - - - - - - - 100% - - - - - 271% - - - - -

T 0 T 0 T 0 0 T 0 0 0 0 0 0 0 0 0 T 0 0 0 0 T . 0 . 0 . 0 . T 0
None of them heyre allthe same 26% - 5% - 2% - - 100% 3% - - - - - - - - 100% 4% - - 100% 4% - - - - - - - 0% -
o 5 B Z B Z 1 0 T 3 T T T T G 0 0 0 T T T 0 0 B T 0 T B T 0 T B T

o 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% - - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%

Proportions/Means: Columns Tested (5% risk level) - AJB - C/DIE - FIG/HI - JK/LIMINIOIPIQIR - STTIUN/WIXIY - Zia/b - c/fe Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Gun control) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female s Univ Grad e Party Party  Party(NDP)  (BQ) a ar other party _ballot ure 1
A 5 c ) E 3 G H ] 3 K L 0] N o P Q R s T Y v W X Y z a b < d e

Base: Allanswering 2 12 2 g B g T 3 10 10 3 8 1 5 3 0 0 T 3 a 7 5 2 5 3 o 1 5 5 7 3 z
Weighted v & & e 7 & 7 7 o e 7 & o P T o T P 7 P T e T ¥ Pl 7 3 T Fa

5 3 3 2 T 3 2 T 2 T 0 5 0 0 0 [ 0 [ 0 [ T T 0 Z 1 o 1 ) 1 T 0 Z
The Liberals 5% % 50% 9% 2% 53% 100% 4% 51% 2% 20% 100% - - - - - - - 30% 65% 37% 39% 100% - 100% 2% 3% 32% 3% 81%

7 7 0 0 0 7 0 7 0 0 T 0 0 T 0 0 0 0 0 0 0 0 0 7 0 T 0 T 7 T 0 T
The Consenvatives 7% 3% - - 10% 3% - 66% - % 52% - - 50% - - - - - - - 14% - a1% - - - 16% 51% - - -

T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 1 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Green Party % 5% &% 13% 11% - - - 1% 9% - - - - 69% - - - - 27% - - 2% - - - - 16% - 7% - -

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
Some other Party 5% 8% - - 15% - - - - 12% 28% - - - - - - - - - - - 58% - - - - 23% - - - -

T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Bloc Québécois (BQ) 3% 6% - - - 8% - - - 10% - - - 18% - - - - - - - - - 10% - - - - 2% - - -

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T 0 T 0 T 0 T 0 T
The People’s Party of Canada % - % 0% - - - - - % - - - 5% - - - - - - 18% - - - - - - - - 13% - -

T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The NDP. 3% - &% 0% - - - - - % - - 100% - - - - - - - 18% - - - - - - - - 13% - -

7 0 7 1 T 0 0 0 7 T 0 0 0 0 0 0 0 0 1 T 0 T 0 T 0 T 0 T 0 T 1 T
None of them -they're all the same 19% i 3% 20% 3% i - - 3% 8% - - - % 31% - - 100% 100% 3% - 9% - 9% - - - 2% - 26% 63% 19%
S 12 © 3 ] 3 5 2 3 2 7 2 5 0 2 T [ 0 [ T 2 2 2 T @ 1 ] 1 2 3 3 1 2

oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - B 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% isk level) - A/B - CIDJE - FIG/H - JIK/LIMINIOIPIQIR - SITIUVIWIX/Y - Ziafb - cidle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Abortion) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?.

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

PosiSec  UnivGrad e Parly Party  Party (NDP) (BQ) a ar other party _ ballot ure 1
A B ¢ D E F G H I ) K L ] N ) 3 Q R s T [ v w X 02 z a b c ] e

Base Al answering % 8 7 2 7 5 3 a 13 5 3 a 3 a 6 0 0 3 2 7 5 a 3 3 2 T 3 3 2 o 4 [
Weighted & & o = r £ = - & > o r > - e > > & > - o o F o e > F = 7 a

3 0 3 z 0 T 0 T Z T 0 T 0 o T 0 0 T 0 T T 0 0 T 0 0 0 0 0 2 0 T
The Liberals 2% ™% 1% 20% % S0% - 20% 3% % - E - - S0% - - 3a% - 5% 3% - 20% 1% - 100% - % 3% 3% 51%

3 z T T T o o z 0 o 0 o z o 0 o 0 o 0 T T o 0 o 0 o T o T o 0
The Bloc Québécois (BQ) 16% 29% % 4% 19% 7% - 1% 2% - - - B5% 6% - - - - - 52% 7% - - W% - 2% 0% 55% 5% -

2 z 0 z 0 0 z 0 0 0 0 z 0 0 0 0 0 0 0 z 0 0 0 0 0 0 z 0 0 0 0 [
The Green Pary 5% 39% - 2% - - 3% - - - - 3% - - - - - - - E - - - - - - 0% - -

z T z z 0 o z 0 T 0 o 0 T 0 o 0 o z o z o 0 o 0 o 0 T 0 o 2 o 0
The People's Party of Canada % 0% 6% 5% - - 2% - 0% - - - 3% - - - - G6%% - 3% - - - - - - 8% - 29% -

T 0 T T 0 0 0 0 T 0 0 0 T 0 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0 T 0 [
The NDP % - % 0% - - - - 6% - - - 1% - - - - - - 1% - - - - - - - - % -

T o T o 0 T o T o 0 T 0 o 0 o 0 o 0 o 0 o 0 o 0 T 0 o 0 o 0 o T
The Consenatives % - % - - 9% - 9% - - 2% - - - - - - - - - - - - - 52% - - - - - 6%

7 T 3 0 3 0 z 0 z T T 0 0 0 T 0 0 0 z 0 0 z T 0 0 0 0 T 0 0 z [
None of them -theyre allthe same 2% 4% 0% % 2% Ta% 26% - 26% 36% 6% - - 5% 4% - - - 00% - 4% 73% 1% 2% - - - 50% - % 87% 2%
— 5 S [ 5 7 3 5 3 G ? T T z 3 3 T O ? z S z 3 T T T T 3 B T 5 3 B

9 00% 100% 00% 00% 00% 100% 00% 100% 00% 100% 00% 100% 00% 100% 00% - - 00% 00% T00% 00% 00% 00% 00% 0% 00% 00% 00% 0% 00% 0% 00%

Proportions/Means: Columns Tested (5% risk level) - A - C/DIE - FIGIH - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cldie Overlap formulag used. * small base; * very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Affordability and cost of living) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNoneW  Don't
rvativ Theliberal Democratic ~Québécois ~TheGreen  People's  Orsome  ouldspoil  Know/Not
TOTAL Female Univ Grad e Party Party (NDP) Party P other party _ballot
A B E I P Q Y

Base: Allanswering 168 79 09 38 50 50 10 39 57 52 35 50 18 21 13 0 3 i 27 8 30 ) 75 34 24 z T ) 24 27 5 EQ
Weighied o1 @ 57 2 75 3 7 307 36 157 T 28 G e 5 e Eid Gl T il o = 2 T 5 o Gl o 5 1o 2 o+

%6 4 2 5 2 0 3 s T 7 T 2 0 T T 0 0 T T T 7 5 G 7 G T 2 7 G 3 5 7
The Liberals 26% 3% 21% 2% 26% 26% 19% 26% 3% 2% % 7% % % 16% - - 1% % 20% 2% 24% 28% 20% 3% 6% 22% 33% 38% 21% 20% 21%

o] T 7 3 1 5 2 5 7 7 15 T T o o o o o o o 3 3 7 T B T B 5 3 T 7 3
The Consenvatives 18% 25% 2% 12% 2% 5% 10% 16% 20% 21% 86% % % - % - - - % - % 12% 2% 20% 11% - 29% 28% 1% 2% 1% 1%

2 5 7 3 Q 3 z 7 3 3 T 2 7 2 0 [ z [ 0 2 T 7 T T 7 ) 0 7 7 3 7 z
The NDP. 12% 12% 12% 1% 12% 10% 10% 12% 9% 18% 8% 6% 50% 18% 9% - 62% - 2% 34% 6% 20% 5% 5% 16% - - 7% 10% 2% 8% %

5 7 7 H 3 3 2 3 3 T o o o 7 o o o o o T T 2 o 3 O T B T B T B
The Bloc Québécois (BQ) 5% 8% 5% 8% % 10% 10% %% % % - 1% 5% 53% - - - 6% - 17% 5% 10% % 19% - - 19% % 1% % 10%

3 2 T 0 T 3 z 0 T T 0 0 0 0 0 [ 0 [ z [ 0 [ 0 z 0 ) 0 ) 7 ) 0 T
The People's Party of Canada % 5% 2% - 2% 8% 12% - 2% % - - % % - - 15% - 13% - - 2% 2% 1% 2% 54% - 2% 13% - 2% %

3 T 7 T T T o T T T o o o o 2 o o o o o T o T T O T 0 T O T T T
The Green Party % % % 5% % % - % % &% - % - - 36% - - - % % 5% - % 2% 2% - - 2% 2% 8% 2% 2%

T 0 T 0 T T 0 T 0 0 0 0 0 T 0 [ 0 [ 0 [ 0 [ 0 T 0 ) 0 ) 0 ) 0 T
Some other Party 1% - 1% - - 2% - 2% - - - - - 5% - - - - - - - - - % - - - - - - - %

Ed 7 ] 3 fE] s 7 © 5 5 o 7 3 2 2 o T % ) T 7 7 % T 5 T B 3 T % o 7
None of them -they'e al the same 30% 6% 1% 39% 30% 5% 39% 3% 26% 25% % 1% 3% 12% 2% - 20% 80% 7a% 2% 5% 32% 21% 20% 32% - 30% 16% 8% 2% % 38%

A I
S 01 2 57 22 5 3 7 30 36 ) 6 % O FE] 5 0 3 s 6 5 6 2 2 i 5 T O 21 5 ) 24 £
loma 100% 100% 100% 100% 100% 100% T00% 100% T00% 100% 100% 100% 100% 100% T00% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% T00% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

3a. You've indicated that healthcare is a top issue for you. What, specifically, are you most concerned about?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
Conservativ TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad Party Party (NDP) P Party other party _ballot
A 3 E G I P Q 02
Base: Heallhcare s a top 3 i5sue 318 103 215 57 31 30 16 64 a7 91 50 7 15 37 18 0 1 20 50 13 ) 59 72 56 56 5 17 5 ) a3 6 86
Weighted 169 55 iy 25 7T S 26+ 5 5 35 25 50 & 21 & T T3 £ & 25 2 @ e 307 el & %5 25+ 2 a6 2
3 S £ 9 2 [ 5 [ 13 0 7 20 3 7 T [ 0 5 9 2 7 5 8 5 7 T 2 5 © 7 8 5
Access to doctors 26% 23% 2% 1% 3% 7% 30% 26% 2% 26% 6% 4% 3% 8% 3% - - 3% 26% 3% 1% 20% 2% 13% 24% 21% 2% 24% 35% 39% 13%
E 7 W oW © ©
% 5 7 3 7 5 o 3 % z 5 0 5 T 0 0 3 7 0 3 2 7 o 3 T T 2 3 2 7 )
Wait times to see doctors 16% 6% 16% 0% 2% 20% 20% 0% 6% 5% % - 5% 8% - - 25% 23% &% 1% 8% 9% 27% 21% 36% 10% 7% 26% 10% 10% 25%
o K K o a a
£l 7 7 5 7 5 0 ) 0 a 5 [ T 3 T 0 0 3 2 T 5 3 3 7 5 . 0 Z 5 5 7 7
Wait times in hospitals 1% 1% 5% 20% %% 8% 20% 7% 2% 16% 16% %% 1% 6% - - 2% &% % 23% 12% 8% 19% 18% - 5% &% 20% 25% 10% 7%
v @
B 5 ) 3 [ 7 5 3 8 7 5 7 T T T 0 0 0 5 T 2 5 7 2 2 0 2 5 0 T 3 z
Quality of care 2% 6% 0% 1% 18% &% 20% i 1% 0% 9% 2% 2% &% 1% - - - 1% 1% 11% 19% 1% 5% 8% % 2% 26% 2% % 13% 9%
E W b
15 3 10 2 4 7 1 1 7 3 1 5 1 2 2 o 0 o 2 1 1 4 0 4 3 1 1 1 2 1 3 s
Senices covered thiough universal healthcare
5% 5% 9% &% % 0% % 3% 2% % 2% % 5% % 20% - - % 7% 20% 3% 1% % 0% 9% 2% 7% % 7% % 7% 2%
G v v
g 2 5 2 5 5 0 a 5 2 2 2 T T 0 0 0 0 7 0 2 3 2 T 0 . 0 Z T Z 3 T
Access to specialists % % &% &% % i % &% i %% % 7% % - - - - 2% - 7% % 5% 1% 1% 1% - 6% 3% 8% % &%
i 5 5 2 3 5 T 7 3 T T 3 0 2 T 0 0 T T 0 2 T 2 3 2 0 2 2 T T T 3
Long-tem care % % % % % 7% 5% % % 3% 2% 5% 5% 0% 6% - - 0% 2% 5% 9% 3% % 7% % - 19% 7% % % 2% 7%
7 T 5 T z 2 3 T 2 T 3 7 0 0 0 0 T 0 0 0 T 2 2 . T . 0 T 0 T 3 Z
Advancements in medical technology % 2% 5% 5% 5% 3% 1% 1% 3% 3% 1% 6% - - - - 100% - - - 6% 6% 5% 1% 5% - 5% % - % % %
R
5 7 T 0 z 3 o T z 3 2 2 o o o o o o T o o T 2 2 T T o 2 2 T T T
Infrastructure in hospitals and clinics 3% 6% % - 3% % 1% 3% 8% 8% % - 2% - - - - 2% - - % % % % - - ™% % - % 2%
E GH
5 1 z 1 3 1 2 T 2 T 0 0 T 2 0 0 0 0 2 T 0 2 2 T 0 0 0 T 0 T 2 T
Some other issue % 2% % % 5% 1% 6% 1% 3% 2% - - 9% 7% 5% - - 3% 6% 7% - 6% % % B - 5% % B % 5% 1%
K ®
3 7 T 0 T 7 0 T T T 0 7 0 T 0 0 0 0 0 0 0 o T T T T o T T T o T
Pharmacare 2% % % - 2% % % 2% % - % - % - - - % - - - 3% 1% 3% 23% - 5% 5% - - 2%
S 69 56 L 2 i ) % s 50 3 S 0 5 2 5 [ T [ e 5 ] % ) 3 £ 3 s 3 % 7 % )
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

3b. You've indicated that immigration is a top issue for you. What, specifically, are you most concemed about?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad Party (NDP) party Party otherparty __ballot
A 3 E ' P o 02
Base: Immigration i a top 3 issue 59 7 7 2% 53 70 7 2 57 o a1 £ 8 32 8 2 0 13 2 7 9 33 30 28 37 5 1 29 2 15 34 38
Weighted 5 [ 707 a £l 35 2 20 36 15 207 T L o 7 T & I 5 o 7 7 5 7 el & 5 7 & 16 5
30 19 1u 7 19 3 8 16 4 10 2 1 s 0 o 0 1 6 3 2 2 s ) o 1 4 4 1 o 2 °
Preventing migrans from crossing into Canada illegally
3% 2% 2% 20% 55% 27% 39% 3% 2% % 5% % 9% 7% 30% - 2% % 50% 8% 2% 28% 4% 54% 2% 8% 25% 63% &% 2% 8%
s T
0 14 i3 3 9 bl 6 i T 5 7 a T 7 T 0 0 7 6 0 3 T 8 T 3 . T £l 3 Z 0 T
Canada takes in too many immigrants 6% 3% 39% 2% 56% 2% % 8% 30% 3% 3% 2% 24% 39% 30% - - 56% 2% - 3% 64% 8% 30% 7% 0% 7% 52% 9% 26% 60% 25%
£
oo " - 9 5 4 5 3 2 0 2 4 3 2 3 0 0 2 1 0 o 1 2 3 2 1 o 1 o 3 1 1 2 2 1
roviding more support for new immigrant 1% 1% 1% 4% &% 5% - 1% 1% 20% %% 8% 2% 2% 0% 70% - 5% % 1% 30% % 7% % &% - 5% % &% 3% 10% %
Doing Canada's part to help with the world 7 2 4 1 3 2 1 1 3 1 0 4 0 1 1 o 0 1 0 o 1 o 3 1 1 o 0 1 1 1 2 2
refugeelmigrant crisis % 5% 1% 9% %% &% 0% % 7% % 2% 2% 3% % 2% - - 0% - 9% %% % 5% % &% 2% - % % 20% 1% %
Z 2 z 0 0 7 2 0 T T 2 T 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 T 0 0 2
Canada needs more immigration 5% % % - % 1% 16% - 3% 5% 9% % 0% 3% - - - - - - - - 3% - 0% 57% - 2% % - - 1%
3 T 2 T 2 0 0 T 2 0 0 T 0 T 0 0 0 T T 0 T 2 0 . 0 . 0 T 0 T T 0
Some other thing % D 5% &% &% % - 5% &% 2% - % - % - - - 1% % - %% % - - 2% - - % - 1% &% %
o 5 ] 0 2 El 3 5] £ E3 3 o T 7 T 7 T 0 O [ 5 S 7 T [ T 3 s [ T O 6 [
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlab - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

3c. You've indicated that the economy is a top issue for you. What, specifically, are you most concerned about?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad Party (NDP) Pary P other party _ballot
A 8 E i 3 o Y

Base: Economy is a (op 3 issue 2% 127 Tor % o7 % 15 3 % % % 5 5 % i 0 T b £ o 7 % 57 5 0 5 16 55 5 ) Eg 5
Weighied 22 7T 51 i 517 Ed 25 % £ £ g [ il o Gl o & o 5 T2 2 25 £ 2 T [l £ 3T o o 25

3 37 3 5 3 % [ ™ = % £ % 3 ™ 3 0 0 0 5 Z 5 [ T 0 [0 3 3 g T 5 [0 0
Economic growth  fear o recession 5% 3% 2% 8% 2% Sa% 5% 2% 9% G5% 5% 2% &% o7 51% - 00% 5% 0% 36% 3% 6% 6% So% 3% Bo% 3% So% 1% 1% &% So%

G

£y & 5 z s o 7 5 7 7 5 O o 0 T 0 o z 3 T T 7 7 7 3 0 z 7 5 0 z 7
Creating jobs 7% 21% % Ta% 6% 6% 0% 20% % 3% T6% 20% - % 7% - - 5% 2% 2a% 0% 9% % 6% 5% - 2% 20% 20% % 9% 6%

b 5 7 3 5 3 0 5 7 3 z 7 0 T z 0 0 T z T z z 7 z T 0 T 3 z 3 3 T
Affordabilty 0% % % 20% 2% % - To% % % % 0% 5% 7% 26% - - 6% T5% 26% 7% % T5% % % - 2% % % 2% 6% 5%

3

5 G z 2 z 5 T z 3 3 z 7 o T o 0 o T o 0 z T T 2 z 0 T 2 7 T o T
Trade 7% % % 0% % % % ™% % % % % - &% - - - Ta% % 5% % % &% 0% 1% 1% 5% 5% &% 7% %

5 7 2 T T 3 0 3 z T T T 0 z 0 0 0 0 T T 0 0 T T z 0 T T z 0 0 T
International Taxation W% 5% 3% % % 5% - 0% % % % % - 2% - - - - ™% 2% % - % % % - 5% % 5% - 2% 5%

7 z T o T z T 0 z 0 o T o T o 0 o 0 T 0 o 0 T T z 0 o T T 0 o T
Some other thing 3% 3% 3% - 2% 4% % - 4% 1% 1% 3% - 4% - - - - 11% - 2% 2% 2% 8% - - 3% 3% - 6%

2 T 2 0 T z 0 T T T T z 0 0 0 0 0 0 0 0 0 0 T 0 T 0 0 0 0 0 T T
Stock market volatity 2% % % % % % - % % % 2% % - - - - - - - % - 2% % 5% - % - % - % %
I 22 7T B £ B E3 = % E3 % = = 3 g G T O O (0 g = = = % = 7 O = e g ] =

9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (6% rsk level) - A - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - STTIUNIWIXIY - Zlalb - cide Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

3d. You've indicated that climate change is a top issue for you. What, specifically, are you most concerned about?

GENDER

EDUCATION

The
rvativ

The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Québécois  TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Female Univ Grad e Party Party  Party(NOP)  (BQ) Pary Party otherparty _ballot ure 5
A 8 ¢ D E F G H I ) K L ] N ) 3 Q R s i U v W X Y z a b c d e
Base: Climate change is a top 3 issue 335 143 192 63 115 157 9 49 148 129 30 121 34 63 39 1 2 14 31 24 39 60 55 73 70 14 18 55 70 45 60 87
Weighied 166 75 &7 £ 51 77 F 37 51 50 6+ 3 o £ i T 7 & To o o % 2" £ £ o o 25 37 25 2 W0
Governmentis not doing s a7 36 1 25 3 5 1 2 2 8 18 1 1 8 1 0 2 7 6 7 1 1 16 15 4 s 15 7 8 10 1
change aa% % 1% 5% % 5% 4% 5% % 2% 51% 30% 7a% 525 5% 100% - 2% W% 31% 3% 515 5% 6% 5% 6% 3% 51% a6% 3% 5% 5%
KN 3
eting nchidal Canad oo 56 2 2 15 15 2 3 1 20 19 4 2 4 s s o 2 2 s s 8 6 0 2 2 2 4 8 2 2 7 1
ering indmduat ehaviour 3a% 31% 36% a1% 30% 3% 7% 3% 2% 39% 2% 0% 2a% 2a% 3% - 100% 36% a2% 0% 1% 2a% 5% 32% 36% 27% 20% 29% 3% aT% 30% 3%
(e fooss,| 21 7 1 7 5 0 5 3 5 s 2 s 0 7 2 o 0 1 1 s 2 3 3 4 4 o 3 2 3 4 4 s
fires, etc) 3% % 6% 6% % 2% 4% &% 0% 2% 5% Ta5% % 9% % - - 1% % 5% 0% 2% 0% 2% % - 2% % % 6% 6% 5%
T
counties 15 0 5 3 4 7 2 3 5 3 1 s 0 2 1 o 0 2 0 1 2 2 2 3 1 2 1 3 4 1 1 2
% 1% % 7% % % % &% % &% % 3% - 5% % - - 2% - % 0% % % &% % 7% 1% 0% 2% 5% % %
T
2 z T 0 T T 0 T T T 0 T 0 0 0 0 0 0 T 0 0 T 0 T 0 0 0 T 0 0 0 T
Some other thing 1% % % - % % % 2% % % % - - - - - - A - - % % % % - - % % - % %
I To6 7 w7 £ B 7 £ 37 o % T % T 3 £ T z S T [ (S % = 3 = g £ g Ed = = o
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proportions/Means: Columns Tested (5% rsk level) - AB - C/DIE - FIGIH - JK/LIMINIOIPIQIR - STTIUNIWIXIY - Zialb - ide Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

3e. You've indicated that taxes are a top issue for you. What, specifically, are you most concerned about?

GENDER

TOTAL

Female

EDUCATION

Univ Grad

The

rvativ  The Liberal

The New
Democratic
Party (NDP)

DECIDED-VOTERS LEANERS

The Bloc
Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil
ballot

[
Know/Not

FEMALE

Detailed Tables

s arty ©Q) a ary other party sure 5
A 3 c D E 3 G H ' 3 K L 0] N ) P Q R s T [ v w X 02 z a b < d e
Base Taves are atop 3 issue 21 102 19 39 % 87 17 39 08 64 El 73 9 27 6 T T 18 32 2 27 5 50 5 37 5 20 9 33 9 [ El
Weighted 23 1 2 25 75 55 20 3 a1 2 31 207 E o+ El o o T 6 o 5 16° 27 28 25 2 5 %6 207 0 1o 2
personal 100 high and shouid be cut 7 3 13 £ E) 13 1 3 16 20 20 1 6 1 o 0 8 2 4 o 2 2 20 2 1 20 1 7 13 23
ersonaltaes are too high and should be cut 5% 9% 52% 7% 6a% 5% 3% 1% 5% 6% 7% 30% 0% 25% 100% 100% 7% Ta% 36% 6% 7% 7% 7% 54% 3% 79% 52% 2% 5% 1%
oot ow and shoud be raised i) 8 3 6 2 4 4 4 3 2 1 6 1 o 0 o 1 2 1 2 2 3 3 [ 3 2 3 o 3
orporate taxes are (00 low and should be fajser 1% 1% 1% 2% 9% 2% 9% 7% % 5% 2% 8% 77% - - % 5% 2% 7% 1% 8% 1% 1% - 2% 7% 5% - 1%
o e st working and should 15 7 6 5 3 5 3 3 5 3 2 6 2 1 2 o 0 o 1 4 1 1 2 1 3 1 2 3 2 3 0 s
' taxsystem isntworking and shou 1% 2% 10% 20% 7% 0% 1% % 0% 2% % 5% 2% 5% % - - % 5% 3% 8% 8% % 5% 2% 57% 4% 2% 1% 2% 10%
oot it ant should b ] 5 4 3 2 3 0 4 3 1 2 2 0 2 0 o 0 1 1 1 2 2 0 3 1 [ 3 [ 2 o 2 1
orporate taxes are 00 high and should be cut 7% % % 0% 5% &% - 1% 7% 5% 7% 5% % 1% - - - % % &% 1% 0% % % 3% 7% - 0% - 2% %
6 a 2 T T a z T T 0 2 T 0 0 0 0 0 T 2 0 T 0 0 . 7 . T . 2 . 0 Z
Some other thing 5% &% % % 2% &% 6% % 2% 1% &% 2% - - - - - % 1% - 7% 2% % 1% 7% 7% 1% 2% - 2% %
2 o 2 o 2 o 2 0 0 0 2 0 0 0 0 o 0 o 0 o 0 o 2 o 0 o 0 o 0 o 2 o
Personal taxes are 100 low and should be raised = = = - = - = - = - e - e - - - - - - - - o = - - - = - - - -
©
- F3) ) (3 % 3 ) gl £ W 2 B @0 5 T 3 0 0 T 6 o 5 T 27 % = 2 T % 20 o 19 3
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proporions/Means: Columns Tested (5% risk level) - AB - C/DIE - FIGIH - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cidie Overlap formulag used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

4. Which of the following is the primary factor in determining how you will cast your ballot on Election Day?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
rvativ Theliberal Democraic Québécois TheGreen  People's  Orsome  ouldspoil  KnowlNot
TOTAL Female Univ Grad e Parly Party  Party (NDP) (BQ) Party _other party | ballot
A c E G I 0] P [ [ w c

Base: All respondents 901 01 500 166 352 383 50 149 15 287 156 203 55 131 64 4 4 56 126 50 116 T65 o7 179 73 3T % 7 ) 706 o1 213
Weighied 84 232 252 o5 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110

204 5 0 (@ 5 5 = @ 7 o 5 5 T 7 T T T © [ ™ & % 3 5 5 5 o 3 0 3 % s
The partys stance on the issues 2% % % 3a% 5% 3% 3% 2% 5% 5% 5% 32% 3% 7% S0% 5% 21% 8% 50% 3% 6% 5% 2% 6% % 2% 25% 6% 2% % 5% 5%

c i R i K A

o EQ % T 7 7 E3 @ & T E3 3 5 % 10 0 z o ] & =% EY (5 % ES O = 37 ES i [

The Party and leader 0% 2% 6% 4% 0% 3% % 1% 3% 7% 6% 525 0% 39% 4% 2% &% 29% 6% 5% % 37% 2% 3% 3% 3% 59% 0% 36% 3% 39%
R TMNQR R R £

% T a 71 77 £ T 7 3T % 5 % 5 i 5 3 0 5 T 5 7 £y T i 15 7 5 = = 5 7 u

My local candidate 6% 6% 6% 2% 5% To% To% 16% T8% 16% % 6% 7% 2a% T6% 3% 2% 2% 2% 215 2% 1% 5% % 21% 2% 6% 1% 2% 2% 5% %
7 7 3 o
I Ton 7 752 % o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % 57 = 5 0
o 00% 100% 0% 100% 00% 100% 00% 100% 00% 100% 00% 100% 00% 100% 00% T00% 00% T00% 00% T00% 00% T00% 100% 00% 00% T00% 00% 100% 00% T00% 00% 100%

Proportions/Means: Columns Tested (5% rsk level) - AB - C/DIE - FIGIH - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Zialb - ide Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

5. (T2B Summary) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvativ Theliberal Democratic ~Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowlNot
TOTAL Female PostSec  UnivGrad e Party Party  Party(NDP)  (BQ) Party Party otherparty ballot
A B c E G ] M P Q U w c
Base: All respondents 901 401 500 166 352 383 50 49 415 287 56 253 65 31 o1 @ @ 58 1% 50 6 165 187 79 73 31 50 71 70 06 181 713
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5. (B28 Summary) Over the past few weeks, have you become more or less likely to vote for the following parties?
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5. (The Conservative Party) Over the past few weeks, have you become more or less likely to vote for the following parties?
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5. (The Liberal Party) Over the past few weeks, have you become more or less likely to vote for the following parties?
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5. (The New Democratic Party (NDP)) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER

EDUCATION

The

Conservatiy The Liberal

The New

Democratic

DECIDED-VOTERS LEANERS

The Bloc
Québécois

The Green
1y

People's

or some

Would not
vote/NoneW
ould spoil

[
Know/Not

FEMALE

Detailed Tables

TOTAL Male PosiSec  UnivGrad e Parly arty  Party(NDP)  (BQ) arty Party otherparty _ballot ure 4
A O c ) E F G H I p) 3 L ] N ) P [ R S T U v W X v z a b c d e
Base: All respondents 901 401 500 166 352 383 50 149 415 287 156 293 65 131 64 4 4 58 126 50 116 165 187 179 173 31 60 171 170 106 181 213
Weighied 84 232 252 55 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110
T [ 5 o 7 z Z 3 7 5 T O 5 3 0 0 0 o T 3 7 z T 2 T 0 7 3 T 3 T T
Much more likely 3% 5% 2% 1% 2% % % % % % % % 20% % - - - - % 0% 2% % % % % 8% % % 5% % %
B OF JRVNGR WX VWX b
7 % % ) % % @ @ % T T 77 10 7 5 0 o z 5 7 ] i ) o ] 3 ) 5 12 o 12 @
Somewhat more likely 5% 6% % 21% % 3% 6% 2% 6% 6% 16% 7% 3% % 26% - - 5% % 9% 2% 9% % 1% 4% 6% 5% 6% 5% 9% 5% 3%
3 x x TKNQR QR W
3 % g = 3 23 5 @ % 5 i 2T z by 5 0 T 5 5 7 5 7 15 i) i} z 7 o 5 5 7 i
Somewhat less likely 1% 1% 4% 3% 4% 2% % 2% % 1a% % 1a% % 5% T6% - 21% e % 2% % % T8% 2% 2% % 6% 1% % 1% 6% 4%
U
B E3 % o % @ S z % & T % T ) 7 7 o 7 5 7 5 Ey e % 7 7 © B 3 5 i
Much less fikely 7% 2% 0% 0% % 2% 5% 9% 6% 16% 6% 6% 2% 27% 5% B85 - 1% % 1% 0% 1a% % 20% 7% 7% 20% 30% % % 5%
B o ) ® iR T T o
pi] 103 50 2 02 108 EY & % % o 7 7 3 = 0 z i 5 m = & 5 5 9 ) a % 3z 5 &
No change 52% 44% 59% 44% 56% 52% 57% 54% 49% 50% 49% 48% 39% 44% 41% 12% 79% 71% 76% 49% 41% 56% 56% 55% 50% 25% 50% A% 59% 63% 57%
L) c KLV KN T ™ T 7 4
Ta | o | o 3 o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % 57 = 5 0
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
3 48 a1 3 3 2 16 1 34 22 16 3 16 10 8 0 0 2 5 10 20 18 12 12 13 3 7 18 13 13 13 15
28 6% 215% 6% 32% % 1a% To% 1a% 20% 20% To% 21% 3% 3% 26% - - 5% % 26% 4% 2% 2% 1% T5% 6% 2% 0% 4% 5% 4% 4%
DE QR QR JKMNQR MQR VW VWX VW ab. e
@ B 3 z 5 7 £y E3 £ £ % 50 z 3T 5 7 T s ) s e & = £ £ O @ % E3 9 B £
628 29% 5% 2a% 2% 2% 345 2a% 2% 1% 0% 2% 325 % 3% 31% Be%% 21% 5% T5% 2% 25% 2% 2% 2% 36% Ee 3% 3% 3% 7% 2% 29%
5 T R [ QR [ T U <
Base: Excluding DKIPNA 231 125 03 3 % % B 3 57 % z 3 Tor i ™ o T 3 o W [ [ o Eg [ EY = 3 a
5 iy 5 o 7 z z 3 7 5 T 0 5 3 0 G 0 3 7 z T 2 T Q 7 3 1 3 1 T
Much more fkely % % % 20% % % % % % % % % 3% 7% - - - - 9% 20% ™% % % % - 5% % 2% a0 % %
OE KN VWX £ e
7 % % ) % % 7 7 % T T 7T 1 7 5 0 0 z 5 7 ) & S} o ) 3 ) i ™ o ™ i
Somewhat more likely 31% 28% 35% 38% 33% 27% 38% 26% 32% 31% 35% 32% 55% 16% 4% - - 16% 32% 37% 38% 44% 24% 24% 28% 35% 31% 31% 24% 47% 35% 30%
W i W W W
& % ES 5 % % 5 @ = 5 ) 7T z Y 5 G T 5 5 7 5 7 ] 5 ) z 7 o 5 5 ) 5
Somewhat less likely 2% 21% 3a% 2% 31% 5% 2% 2% 2% 275 2% %% % 26% 7% - 00% 6% 5% 2% 2% 6% 1% 27 2% 0% 2% 2% 6% 6% W% 2%
A T T T UX
T £ % ) s @ b z % ) T % T % 7 7 0 7 5 7 5 by s % = 7 7 S % 3 5 i
Much less likely 35% 42% 26% 19% 31% 46% 34% 42% 32% 33% 36% 35% 3% 49% 26% 100% - 38% 2% 21% 18% 31% 31% 45% 48% 46% 22% 40% 56% 14% 19% 36%
B o) T T w T T T z <
0 0 0 G 0 0 o G o G o 0 o 0 o G o G o G o G o 0 0 0 o 0 0 0 o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
231 25 03 5 % % £ % 5 % 2 3 [ i 7 3 T o 7 [0 £ % “ 3 % 5 3 a7 51 3 EH [
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
89 48 a1 30 30 29 16 1 34 22 16 33 16 10 8 0 0 2 6 10 20 18 12 12 13 3 ] 18 13 13 13 15
28 e 7% Q0% 575% 6% 29% aa% 31% 3% 0% 3% 39% B6% 245 % - - 6% 6% 5650 56% S0 2% 26% 2% 5% 56% B 2% 0% 38% 2%
OF W KN W WX WX b 3
@ o1 3 = % 7 £ % Eg = % £l z 3T 9 7 T 5 S} 5 I m = 3T = 5 7 ) E 9 2T 2
628 2% 3% 0% W% 2% 1% 6% Go% 1% 0% 6% 61% 2% 6% 3% T00% To0% Ba% 6% 2% 2% So% 3% 2% 1% G5% % 3% 7% 0% 2% Ga%
3 c T T KIN T U O U 4 < 5

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

Detailed Tables

5. (The Bloc Québécois (BQ) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE

Would not
The TheNew  TheBloc vote/NoneW  Don't

Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male < PosiSec  UnivGrad e Parly Party  Party(NOP)  (BQ) y Party otherparty _ballot
A O c ) E F G H I p) 3 L ] N ) P [ R S T U v W X v z a b c d e
Base: All respondents 901 401 500 166 352 383 50 149 415 287 156 293 65 131 64 4 4 58 126 50 116 165 187 179 173 31 60 171 170 106 181 213
Weighied 84 232 252 55 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110
2 % S g 7 19 7 0 7 5 3 7 T % T 0 0 o Z 5 0 7 7 5 5 2 7 5 T 2 5 0
Much more likely % 0% % % 8% % % 1% % % % % % 39% % - - - 2% 5% % % ™% % 0% ) 7% &% 1% % % %
JKLNQR a
% % 77 @ 5 77 7 = % @ 12 g 5 2z 7 0 o 0 z 3 S g 5 @ 12 T 7 o ) O 5 %
Somewhat more likely 2% 3% 1% 5% % 3% % 2% T5% 3% 1% &% 2% 0% 2% 1% - % % 0% 6% 1% % 5% 5% ™% 6% 1% 2% 2% 5% 5%
F KQR KQR JKNGR ® v v a
£ E) 3 7 b = 7 ) 7 9 10 = 2 5 3 T 0 3 5 7 7 5 7 T o 0 5 9 ™ 5 o o
Somewhat less likely 1% 3% 0% 1a% 1% 1% 20% 0% 0% % 2% 5% % &% 0% 5% - % 1% 6% 2% % % 2% 1% - 21% % 2% % 2% %
il o a
& @ % & £ E3 T 7T % ) ] i z 0 7 z o O 5 7 5 = ) 5 T 5 5 % b 7 ) ©
Much less fikely 7% 20% % 6% 7% 7% 7% 6% 5% 16% 2% 265 7% % 2a% 2% - 7% %% 6% % 5% 9% 5% 16% 7% 20% 2% 16% 2% 2% 7%
VR [ i R W o
235 107 a5 ) o3 @ 57 5 £ o 7 15 i T 0 3 =% Eg @ % a £ W @ o ) W % 3 5 57
No change 51% 45% 57% 46% 56% 51% 50% 52% 53% 49% 49% 62% 24% 51% 12% 100% % % 39% 50% 59% 55% 50% 48% 54% 23% 52% A% 63% 61% 52%
L) W M W M KN TR s Z 4
I Ta | o | o 3 o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % 57 = 5 0
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 52 % 23 29 46 10 % [ 23 14 16 5 51 5 0 0 0 4 9 14 16 13 22 21 4 14 16 2 8 13 24
28 20% 2% 6% 2a% 6% 2% 2% 2% 2% 20% 7% 0% 26% Go%% T5% 1% - % % 22 2% 0% 5% 2% 2% 20% 5% 1% 2% 6% T5% 2%
QR KQR JKLNQR QR v v v a
7 7 3 % B E = £ [ % % & % 5 10 3 o g @ = T & = % 27 5 b % B iy = %
628 26% 2% 2a% 0% 26% 28% 3% 26% 5% 2% 4% 1% 5% ™% 7% - 5% To% 7% 2% 2% 2% P 29% 7% 2% 3% 30% 21% 2% 26%
5 TR VR
Base: Excluding DKIPNA 23 27 To7 5T % 02 3 E3 5 % z o1 T~ 5o 22 %o 3 6 3 a o Eg [ EY 20 5 3
5 z g 5 @ o) 7 = 7 g 3 7 T % G 7 7 7 5 5 z 7 0 T 2 5 5
Much more fkely 6% 16% 7% 7% 7% 16% 6% 21% 7% 7% % &% % 525 - - - 2a% 2% 20% 6% 6% T9% 6% 2% 2% 21% 0% 2% 6%
)
% % 7 @ i 7T 7 = % 7 = 9 5 z 7 0 0 0 z 3 b 9 5 ™ ™ T 7 o S} 5 5 ©
Somewhat more likely 24% 23% 25% 27% 19% 26% 8% 23% 31% 27% 28% 11% 56% 39% 25% 12% - 5% 14% 16% 36% 27% 13% 30% 25% 14% 24% 23% 22% 32% 14% 30%
i ® v v T
E3 % % @ © z 7 5 7 g 10 % z 5 3 T o 3 5 7 7 5 e iy ) 0 5 g 12 5 ) i
Somewhat less likely 2% 2% 2a% 2% 2a% 21% Q0% 21% 20% 7% 2% 0% % &% 20% 29% - 2% W% 0% 2% T6% 0% 2% 2% - 2% 20% 2% 2a% 30% 9%
W W
3 @ % & 3T % T 7T % E) 15 T z 0 7 z 0 5 5 7 5 = ) i T 5 5 % 7 7 S} 19
Much less likely 35% 36% 34% 29% 39% 34% 35% 35% 32% 39% 43% 50% 18% 1% 48% 59% - 63% 34% 30% 28% 37% 41% 31% 34% 57% 26% 45% 34% 33% 32% 35%
M o —
0 G 0 G 0 G o G o G o 0 o G o G o G o G o G o 0 o 0 o 0 o 0 o T
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 23 27 Tor 5 % o2 3 5 2 T [ 3 0 5 T » % % [ 5 3 5 51 % 3 =
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 52 I3 23 29 46 10 2 40 23 14 16 8 51 5 0 0 0 4 9 14 16 E] 22 21 4 14 16 22 8 13 2
28 2% % W% 2% 6% 5% 2a% 2a% 8% 2% 4% 20% &% 915 31% 2% - 5% 7% 0% W% a7 2% 6% % e a6% 5% % a3 38% 6%
® v
a7 13 3 =% 5T £ £ = [ E) % & 7 5 b 3 0 9 E = T w Eg % i 5 7 ) % T = %
628 So% So% 5% S6% 4% S5% 6% S6% 2% S6% 6% B0% % % 9% B8% - 5% 7% 0% 2% 3% 1% Sa% 6% 7% Sa% 5% 5% 7% 2% Sa%
7 o T

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

5. (The Green Party) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER

EDUCATION

The

Conservatiy The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc
Québécois

The Green
1y

People's

or some

Would not
vote/NoneW

ould spoil

[
Know/Not

FEMALE

Detailed Tables

TOTAL Male PosiSec  UnivGrad e Parly arty  Party(NDP)  (BQ) ar Party otherparty _ballot ure 4
A O c ) E F G H I p) 3 L ] N ) P [ R S T U v W X v z a b c d e
Base: All respondents 901 401 500 166 352 383 50 149 415 287 156 293 65 131 64 4 4 58 126 50 116 165 187 179 173 31 60 171 170 106 181 213
Weighied 84 232 252 55 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110
7 [ [ 5 5 0 Z 3 [ 5 Z 7 T z ) 0 0 o T 7 5 3 3 2 Z 0 5 0 Z 7 3 2
Much more likely 5% 5% 5% 3% % % 2% % % 7% 2% 5% 2% % 3% - - % % To% 0% % % % 2% % 5% % 2% Ta% % %
OE G JRIVQR VWX WX D de
7z 2 EY z £y Eg @ % % 5 % 7 ® 5 T o z 5 iy 0 o S 5 @ 7 T 5 5 7 5 5
Somewhat more likely 5% 6% 2% 2% 1% 5% 3% 5% 23% 7% 5% 5% 2a% 2% 5% - ™% % 315 6% 3% 0% e 6% 9% 6% e T5% e 9% Ta%
B OE FoH 7 IR iR JKQR YW £
% % £ 5 7 71 5} 5 = o b k) 5 5 T 0 0 7 5 T 5 £y ) T 5 T 5 5 i} 5 17 o
Somewhat less likely 2% 0% 1% 3% 1% 0% fE 3% fE % 6% 2% 7% 1% A 1% - 2% % 2% % 1a% 5% 2% % % 2% % 1% Ta% To% %
N N e
7T &) 77 7 % E % T % o ] % z = T z o 7 5 T 5 Ey T 5 b O 3 % B 7 5 i
Much less fikely 5% 9% 1% 7% % 6% 6% 5% 6% % 2% 6% 7% 16% % 2% - 1% % % % 1a% T5% 5% 19% 0% % 21% 21% &% % 6%
& c T NR N R s S s S z q
%0 T a5 T o5 0] EY % 57 % [ 55 7 3z 5 0 3 = 5 = % 3 o 57 © 5 ) % % % &
No change 54% 48% 59% 43% 58% 55% 58% 57% 50% 52% 53% 52% 49% 43% 27% 12% 100% 69% 75% 37% 4% 56% 60% 59% 53% 43% 32% 53% 51% 63% 60%
L) 3 C N N N N RIVN KN s s s Z
Ta | o | o 3 o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % = 5 0
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 53 a2 3 2 &3 9 1 3 3 5 a1 5 20 19 1 0 3 5 18 7 13 13 14 7 4 20 16 7 14 10 18
28 20% 2% % 36% 5% 7% 0% 5% 21% 30% 0% 20% 2% 27 5% 5% - % % % 26% % 5% 1a% 18% 2% 9% 1% 7% 2% 2% 6%
DE FGH JR JOR JOR JKLMQR TUVWX ovw ab. d
fe] &7 3 ) 5 E 77 £ 5 ) £ ) 7 22 3 3 o s © 5 e z % % % O 5 % £ Y = 77
628 7% 29% 2a% 21% 26% 28% 2% 26% 2% 16% E 26% 2a% 0% % &3 - 2% 7% Ta% 2% 27 2% P 26% 5% 6% 0% 3% 2% 5% 2a%
T T T R R N R
Base: Excluding DKIPNA 224 120 Tox E3 7 % o 3 % 5 o i T [ 2" T 2 g o T [ o 2o W a5 %o 3
% iy e = 5 0 z 3 ) 5 z 7 T z ) G G 7 5 3 3 z 0 5 3 z 7 3
Much more fkely 1% % 2% 2% % 5% % &% 2% 5% % 0% % % 50% - - W% 29% 20% % % % % T5% % % 29% %
OE KM WX i3
7z [ EY = ) ) 7 7 % % 5 % 7 ) 5 T 0 z 5 by ) o b 5 7 7 T 5 T 7 5 i
Somewhat more likely 32% 35% 29% 40% 26% 32% 19% 29% 30% 48% 16% 32% 50% 43% 38% 29% - 23% 28% 49% 34% 29% 24% 30% 34% 34% 54% 28% 30% 26% 24% 35%
o T 3 7 7
EJ % £ 5 7 7T ) 5 = o ] ) 5 5 T G o 7 5 7 5 Ey ] iy 5 T 5 5 ) 5 7 o
Somewhat less likely 26% 20% E 2% 2% 2% 2% 0% 2% 16% 3% 2%6% 4% 20% % 2% - 37 5% 0% 2% 1% 3% 26% 20% % 6% 6% 2% 29% 50% 2%
A N N N e
7T 5] 77 7 % % T T % o 1 % z = T z 0 7 5 T 5 by T i 7 5 3 % 2T 7 5 i
Much less likely 32% 36% 26% 13% 34% A41% 44% 35% 32% 19% 47% 33% 13% 32% 6% 59% - 36% 31% 3% 20% 31% 36% 37% 41% 54% 10% 46% 43% 16% 18% 39%
c c T T w w " T o
0 G 0 G 0 o o 0 o G 0 0 o 0 o G o G o G o G o 0 0 0 o 0 o 0 o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
224 120 o4 £ 7 % % o % % % 7 T = 3 0 [ 7 % 3T % i % [ o = a ® % EH wa
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
9 53 a2 34 % 35 o 17 36 33 8 E 8 20 19 T 0 3 6 18 K 13 E] 14 ] 4 20 16 ] 14 10 18
28 W% % % 645, 3a% 7% 5% 5% W% G35 20% 2% 5% 5% 6% 29% - 27 2% 78 4% 38 2% 5% 39% 9% 7% 370 5% S5 2% 0%
OF GH 7 3 7 KM W i
28 o7 o ) % % 7 3z EY ) 3T w 7 2z 3 3 0 5 ) 5 e 7z % % % 5 5 % = i) = 77
628 5% S6% So% 36% 6% 3% 75% 65% So% 7% 0% 5o W% 2% 2% 1% - 3% a% 2% 6% 2% a% 5% 1% 1% 2% 3% 5% 5% 8% 0%
3 C T T KLU N N v T T <

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

5. (The People’s Party of Canada) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER

EDUCATION

The

Conservatiy The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
1y

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Male PosiSec  UnivGrad e Parly arty  Party(NDP)  (BQ) ar Party otherparty _ballot ure 4
A O c ) E F G H I p) 3 L ] N ) P [ R S T U v W X v z a b c d e
Base: All respondents 901 401 500 166 352 383 50 149 415 287 156 293 65 131 64 4 4 58 126 50 116 165 187 179 173 31 60 171 170 106 181 213
Weighied 84 232 252 55 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110
[ 7 5 0 7 T Z 3 3 5 T 5 T 0 0 0 0 o T T 3 5 Z 0 0 0 3 0 0 T 3 T
Much more likely 2% % 2% % % % 2% % 2% % % % % 5% % 2% - 1% % % 6% &% % 0 0 2% % % 0 % % %
3 € i WX WX D
Ed Ey 5 = i 7 z g % 0 7 7 3 O 3 T o T 7 s 5 5 5 2 7 0 5 g 3 7 5 3
Somewhat more likely % 9% 5% 13% 8% 3% 3% 7% 10% 6% 9% 5% 12% 8% 9% 36% 13% 4% 6% 21% 8% 7% 9% 2% 4% 3% 22% 10% 3% 7% 6% 3%
B 3 £ i VWX W W b b
[ 21 7 s T 7 5 = ] 5 b @ 7 5 z 0 0 3 5 5 S} 7 S} o 5 0 5 5 5 7 5 5
Somewhat less likely % % 0% 6% 9% ™% 0% 1% % 7% 2% % 5% 7% % - - % % 2% T8% 5% 1% 0% % - 21% &% % 2% 1% %
OF UX D
i) 7z a7 5 £ & 23 3T % EY 23 @7 7 % 5 0 o 7 5 O 5 © £y EY % g G % @ g @ i
Much less fikely 5% 31% 5% 6% 2% 31% 2% 2% 2% 2% 2% 0% % 345 2% - - 20% % 6% 5% 2a% 20% 25% 6% 6% 7% 2% 6% 6% 2%
5 ) i R ® ® ® T Za
7% T 6% ) o6 720 5T & o2 oL [ o 7 3 T z 3 = Eg T 3T a EJ ] 9 7 W @ 3 57 7
No change 57% 48% 65% 50% 58% 58% 59% 52% 59% 55% 51% 53% 58% AT% 53% 52% 87% 67% 75% AT% 53% 59% 58% 61% 49% 35% 53% 48% 62% 64% 66%
A W KN Z
Ta | o | o 3 o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % 57 = 5 0
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 28 7 1 21 s 4 1 20 1 9 12 4 9 3 2 0 2 5 8 8 10 1 3 5 1 12 13 4 5 8 4
28 % 2% % 16% 1% % 5% 0% % 0% 0% % T5% 2% 0% 8% 5% 5% ™% 2% % 2% 1% % % 5% 2% 1a% % % % %
B 3 € WX WX WX W D 0
e 5 7T £l 5 7 £ ) E Ed = 3 5 EY ) 0 o o ] iy ) z £ [ S g 15 £ % % = =
628 4% 0% 26% 2% 0% 8% 3% 3% 0% 5% E 39% 7% 1% 3% - - 26% 18% 0% 3% 29% 1% 1% 3% 6% 36% 34 ao% 20% 2% 0%
B R R R i T a
Base: Excluding DKIPNA 210 21 5 W 7 57 £ 3 T % o 7 o o T o 26 3 [ [ 3 o o W 5o o 32 7
%) 7 5 0 7 T z 3 3 5 T 5 T 7 G G T 3 5 z 0 0 Q 3 3 0 T 3 T
Much more fkely % % % o% % % % % % 0% % ™% % % 5% - W% % 2% Ta% % % % % 1% % % % 0% 2%
€ € WX WX b
£ 7T it = i 7 z 9 b 5 7 7 3 5 3 T 0 T 7 5 5 5 5 z 7 0 5 9 3 7 5 3
Somewhat more likely 16% 18% 14% 27% 19% 8% 6% 16% 23% 13% 19% 10% 28% 14% 19% 75% 100% 11% 23% 40% 18% 16% 21% 5% 12% 5% 33% 21% 6% 18% 16% 9%
3 € T W W 0
[5 7T 7 5 5 @ 5 = i 5 S @ 7 5 z G o 3 5 5 ) 7 ) o 5 0 5 0 5 7 5 7
Somewhat less likely 21% 7% 2% 2% 20% 6% 26% 2% 21% 6% 25% 19% 2% 1a5 T6% - - 5% 6% 2% E) o% 2% 2% 5% - 3% Ta% 2% Ee 0% 2%
) 3 UX
] 7z a s £ & 3 3T % £l 3 @7 7 % 5 0 0 7 5 5 9 ) £ EY % 9 5 % o 9 7 =
Much less likely 57% 60% 53% 32% 52% 75% 63% 57% 51% 61% 54% 64% 33% 63% 63% - - 60% 37% 33% 32% 57% 48% 1% 74% 91% 24% 58% 81% 44% 44% 66%
c o) T v v a T
0 G 0 G 0 0 o G o G o G o G o G o G o G o 0 o 0 0 0 o 0 0 0 o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
210 21 5 3 7 57 % % T % [ 75 = % [ Z 0 [ T [ & &3 3 A 3 5 = a % % 32 37
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
I3 28 1 1 21 8 4 1 20 1 9 2 4 o 3 2 0 2 5 8 8 10 e 3 5 T 12 13 4 5 8 4
28 2% 2% 20% 6% 26% % % 20% 26% 2% 7% 16% E 2% 21% T00% 00% 5% 7% 3% 0% 0% 2% % 5% % 5% 20% % 2a% 2% 2%
3 € WX WX W b
6% % 7T £ % 7S 3T = 5T £ £ o1 5 £l S} 0 0 o ] by 1 = 3 [y 3 9 T 3z % © = =
628 8% 7% 0% Ga% 2% 915 9% B0% 2% 78% 9% B4 5% 7% 7o% - - B5% 3% 7% 70% 0% Iz a5 5% 915 5% 1% 93% 6% 7% Ba%
) oV U a

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

5. (Or some other party) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
Conservativ TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Male < PosiSec UnivGrad e Party party  Party(NOP) __(8Q) party Party _other party
3 E H I 3 K P R T X a b < d
Base: Al respondents 901 01 500 165 352 383 50 19 15 287 56 293 5 31 ] ) ) 58 25 50 115 165 187 179 73 £ 50 71 70 106 18T 213
Weighted 84 232 252 %5 182 207 86" 135 72 111 82 158 257 7 257 7 el 3 7T e E &0 02 57 o 5 T £l 57 54 B 10
G 7 B 3 3 0 0 2 2 2 T 2 0 2 T [ 0 [ 0 T 2 2 2 T 0 T 3 2 0 T 2 o
Much more likely 1% % 1% % 2% - - 2% 1% 2% 1% 1% % % 3% - - - % % % % 1% - - - 7% % - 1% % -
3 £ WX 5
i ) g 7 3 5 T 8 7 2 7 T 5 T 0 0 0 2 7 5 3 3 2 T 0 7 2 T 2 7 2
Somewhat more likely % % % 9% % % % % 5% % 3% 5% % &% 3% - - - 3% 2% 8% % 3% 2% % - 7% % % % 5% 2%
OE G WX WX £
% 14 5 9 i3 a 6 a 0 i 9 i 0 3 2 0 0 2 3 3 3 3 7 3 T . 7 7 2 5 8 T
Somewhat less likely &% &% 6% 9% %% % 7% % &% i 1% 5% % % &% - - % % % 10% % 2% % % - % % 3% % % 1%
3 E T WX WX © ©
& T Bl 5 i s 0 7 % ) i % T [ 3 0 0 3 8 3 2 5 5 i o 5 3 ) 27 2 7 i
Much less likely 1% 8% 10% &% % 2% 1% 5% 1% 1% 1% 6% 5% 1% 1% 1% - % 1% % % % 9% 8% 2% 2% % 2% 2% % 5% 6%
3 o T T oV Tov Z E
366 162 203 &9 22 155 5 o 26 53 5 115 % 5T 2 7 3 2 57 % w3 &6 75 75 5 7 % T &7 3 70 9
No change 6% 70% 1% 73% 78% 75% 6% 9% 73% 5% 2% 73% 8% 69% 5% 89% 100% 84% 1% 70% 7a% 82% 7% 7% 7% 6a% 59% 6% 69% 83% 5% 81%
A TR z
o @ | 2w | 2 % o2 207 56 5 i) T 52 5 E 7 E 7 3 El 7T 3 E &0 02 57 o1 [ i 5 57 5 5 o
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 0% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
2 14 10 12 10 3 5 3 10 6 3 9 2 6 2 [ 0 [ 3 5 7 5 5 2 1 o 10 4 1 2 6 2
28 5% &% % 3% 5% % &% % &% % % % &% % % - - - % 4% 2% &% 5% % % - 2% % % 5% 7% %
OF E Q WX VWX X b e
S 55 E ) B D 5 2T B 3 E ES 2 16 6 0 0 5 5 5 8 3 2 £ 3 5 7 i % 7 5 i
628 19% 2% 5% 5% % 2% 18% 8% 21% 20% 20% 2% % 2% 9% 1% - 6% 5% 6% 1% 2% 21% 21% 25% 3% 7% 20% 30% 3% 1% 8%
3 c T T T T T U
Base: Excluding DKIPNA 118 o w5 % a 52 20 2 I3 %" 7 g e % G T T 2% 2 2 o T 22 30 o R 21
3 0 2 3 3 0 0 2 2 7 T 7 0 7 T 0 2 2 2 0 0 T 3 2 0 T 2 0
Much more likely % [ % 2% % - - i 5% % 5% % 2% % 2% - - - % 5% 1% &% - - - 6% % - 5% 8% -
3 E X
i ) 5 9 7 3 5 T 5 7 2 7 T 5 T 0 0 0 2 7 5 3 3 2 T 0 7 2 T 2 7 2
Somewhat more likely 16% 5% % 4% 6% 5% 5% 5% 5% 1a% 9% 7% 36% 20% 5% - - - 7% 0% 1% 2a% 5% % % - 2% 1% 3% 2% 2% %
3 E X
% “ (5 5 . 4 3 7 E) 5 5 5 0 3 7 o o 7 3 3 G 3 12 3 T o T 7 7 5 5 T
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6. Thinking about the past few weeks, have any of the following issues influenced which party you are voting for?
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6. A provincial law to restrict or disallow public servants (including police officers, teachers, lawyers in provincial court, etc.) from wearing religious clothing and symbols, such as a crucifix, urban, hijab, etc., while they are at work. Do you support or oppose this?
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